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Keny xeByn? Keny momu? Keny onhu?

Keny ypha momn 3ypata Goono, Temy MOL y3YIL
Keny xeByn, sypara, Teay Terpr ToB.




Keny ahypur sypara, Teay Terpr ToB.
Keny nomupop 3ypata Teny TOrpr TeB.




Tyr neepuuit aab nopaxuii GosHy?
3yu Guilnauil atb 6apyH OUALHMIL?
Oumn, rep, éix xama GodHa?
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54-1

Au neep 1 moByH
cyyna. Tyn meep naxan
1 WOBYH HHUCHK HPB.

Keny mmoByH 6GoJB?

Dp Taka Keny KeaTo?
TakaH TyyxMyJ KeLy Kemra?

Keny uuxre? Keny KuBpPTO?
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2 keByH GoaH 1 KYYKH
BEJIOCHIIEdp Ty Y/CHKIHD.
¥T—TypluTas Keny KY YK
CYYATKIHA?

BuuxH KyykIuH Benocunmen apiaH 2 Terars, M-
HoH 1 TeraTo.

Buukn kyykaue Bemocunex yT—TyplITaH Keny
TOraT?

3 nepBmKur wuuran canh:

P oo

Haxan TannaHap 3 mepsmkur shx canhix 6oux?
JlMapaH MeHrmec 3 meHiur GyTHK GOJIX?
Kepump rtabmuupn menrmec 3 memmr canhx as.
Omapon 2 umk, 3 wnuk.
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JepBH ruar to 4

¥ | ”l\lﬂ“\\w
) ,lll

300—0—— [t 4

88 f 4 mMomHac NepB/MIK TOCX.

3 Mol TOB, nmakag 1 mon ToB. Keny MOIH 00JB?
Croa, CTyJ Kely KeaTd, Temy MO Y3YJL.

3yp

3ypr aop 4 6uy.
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Mogana au neep 4 woBye cyyaa. Her woByHb
nuck ons. Kemy wIOByH aul Aeep yans?

Marmvs SpBaKa
KeLy KeJjTa? Ke1y Terara? KEeLY XKUBPTQ?
4 pepemyur wuron canh: B U
P oo

Hakan Ttanmanap 4 mepsmkur shx canhx Goax?

ABTOMOGHIL Keny Terater wuudpap Ouu.
Yxp keny xeate? Ip Taka, Hoxa keny kenra?
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TaBH ruar to 5

4 wonm TeB, makam 1 mom toB. Kemy momn Goas?

Onn kemy ysypTe, Temy MOX Y3V ﬁ

3% OO0

3ypr nop o Ouu.
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pmkur waren cath: 00O
% onenE EE

5 mepemiur Tamanap ahk canhx Goax?
SIMapaH MeHrZeC S JEHWIT KYLRXK GOux?

Lludppop Ouu: Her rapt xexy Xxyphu Gasxur, muc
Kely KOJTIr, Taka Kely KeJTar.

@
&
. &
CTO@

Cron6uk Gonhup xeny suhr 6a9H9, TYyr Toosan

uncdpap Ouy.
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Keny uahan uuanhu
699Ha?

Keny xap uwmnahw
6a9Ha?

YT—TyplITaH Kexy
upHhH G99HA?

3yu OuitaHb Kexy MOPKOB
099H9?

Bapyn Ouitnnp keny
MOPKOB 099H??

¥T—Typuitan Keny
MOpPKOB 0a9He?

oe Iti=Z
ooe| I+i=
coo0e 2 I::/'_
[cooco0@ =15
At G 3sl
3+41= 1+1= 4+1=
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3yphan ruar to 6

Xopxa Kely KeaTo, MOIHA all Jeep KeLy UM
3yparta, TeLy Terpr ToB.
o ©
00 © 6

6 momap ToCX:

% UL A D

5 MO T3B, LlaKan Her MOA ToB. Kenmy momu Gois?
6 uu 3yp, 3ypr mop 6 Guu.
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6 nepBmkur wurea canhap ToB:

6 nepemkur Tannasap ahx carhx Goax?
6 nenmr Kepump TaGavUMH MEHIIAC KYLRX aB.

6 Gantar 2 Gmomua shxk ToBXK 0OAX?
Jlmapan To nopa myTXkaHa?

l-oc aBn 6 xypta Goan 6-ac aBu 1 kypra TOOM.

3+1= o+1= 14+1=
44+1= 2+41= 5+1=

A 19
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Jogaan ruar 1o 7

Keny suhr aypara GaaHo,
TEAY KJIETK 3YP.

1DOOOSP-0—

QOO
OOOO

/

Keay anbMH Bas3[ 099HD

7

7 Monap TOCX:

VAN

6 mon TeB, makan Her mox TeB. Keny momH Gous?
7 aabM 3yp, 3ypr nop 7 Oud.
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Kyykn 6 ar4 MomHa
xamtxac GosH 1 xap MojHa
xamTXac xakcaB. YT— | Au neep 7 keqmu yphikana.
Typurtan keny xamrxac aH | Kesyn 1 kenm tacax aBu

HALCaRy | Keay enmw au neep yane?
6-+1=7 : o
7 mOpBMEKUT MMrN canh: OO0 oo
g . Gl Eltm

Tanpanap 7 nepBmiur shx canhxk Gomx?

7 anpmur 2 Topakd ShXK TOBK Gosx?
Kepump TabauLuH MOHIIC 7 pewmp KYLPXK aB
1-ac aBH 7 kypT™a1 6oaH 7 -ac apy 1] KYPTJl TOOJ

5+1 6—1
6-+1 51 B

23



Hoomu ruar 1o 8

CmopommH MOJHA all feep Kelny TeMCH GI9H9, Teny
TOTpr ToB.

T 8
Mopgap 2 nepBmX TOCX:
@00
00 0 0 B

7 mox ToB, nakam Her mon TaB. Keny monn 6osis?
8 mohuur 3yp, 3ypr zop 8 Ouu.

24



Kocra 7 wudp Ouunr nack naxaf, 1 uadp Guunr
Jack. YT-Typmtad 9H Kely uudp OMULr mack?

fOpa 8 xermiphto Guira. 1 xermkphH HUCH opB.
Keny xermiphu tOpan yuins?

8 momur 7 Goms 1 mon kex canhTh.

8 momur rannanap shx canhx Goux?

0000 000 ) °o
o ()

boo 000 )

oo
®

oo

'O O

o:]

8 xapanpammr 2 xopoOka shx camh Gonx?
Kepump TabauuuH MOHrIaC 8 NEHIIT KYLQX aB.
l-ac aBu 8 kypra 6oaH 8-ac aBH 1 KypTaI TOOML.

5=l 8—1 5—1
641 =l 4]
e | 6—1 Ax=]
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MucH ruar to 9

B 0 0] |

g 16

Monap 3 rypB/K TOCX:

ANN

8 mon T9B, maxkan 1 mom ToB. Yr-Typiutan Keny

MonH 60JB?

9 fionk 3yp, 3ypr mop 9 Guu.

7/

flMapas 10 gopa myTxama?

4
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Censt 8 Terpr Toapi aBy, nakajg 6ac 1 rerpr Toapx
aBu. Y1-Typiutan kexy terpr CeHs Toopx aBu?

9 xeByH Haauaia. Her keByH Haanaran yps. Kemy
KOBYH L@apaHiHb HaalB?

9 rerprur 8 Terpr Gomx 1 terpr kehom camhth.
9 rerprur Tannasap gakap shi canhi Gomx?

oooo[ 000O0| e 000 .. oc,o0fe o
0000 000 ° ooo | e O O|le o

9 Tenrpus xuncur 2 Gart ahk xyBax Gonx?
Kepump Tabauums mMoHrmec 9 MEHIUr Kylohon as.
1-ac aBH 9 kyprar GosH 9-9c aBH 1 KYPTJI TOOA.

4+1 9-—1 5—1
61 81 541
8+1 7l 4—1
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ApsHu ruar 1o 10
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00000
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Jlena 9 OMUKH TEHIPUH KW GOJH 1 MK TEHrPUH Ku
3ype. YT-TypUITaH Keny TteHrpun ku Jlewa 3yps?

KopoGkn 10 omH—s3ycH Gynrra kapanmai Ouio.
Kesyn 1 kapanmam apuks. KopoOkx keny KkapaHpain
yauB?

10 TeHrpu ku 3yp, 3ypr nop 10 Guu.

flvapan T0 myTHaHa?

1][2]) (4] ][e][ ][8][ 1o

28




10 nepsmiur Ttanpmanap shx camhx Gonx?

s D Wm0 |
s D227 1 |

- 0T 1T+
s P T T

Kepump Tabmuuyun menrmgec 10 nenuwr kymax as.
l-oc apu 10 xypta TOOM.
10-ac aBu 1 kyprta Ttoou.

29
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Hemahu GoJan xacahmn.
1-ur HemXx GOJH XacX.

%%ii%ﬁ%%%%

di=r1 | S|
2= 51 8+1
3+1 6-+1 9-+1

£1'278 45 6.7 8 910

2. Knacenr coaxpyaxep kyyka ueurste 6 Gyhi
aBY WpB, X0eHHb makan 1 Oyhir aBu wps.

Kyykn yr-typruran ueurate keny Oyhm asu
HpB?

3. Jlena kmaccyp 9 wap xamrxac Gosn 1 wohaw

aBY WpB. YT-TypuwtaH Kely xamrxac JleHa aBy
UpB?

4. 21 6+1 9+1
441 o] =l
141 841 341
5. 2 o1 8—1
o= 61 91
41 = 10—1

6. 7 emp wHemenv Gonnr. HemennH Her empTHb
Kyykn cyphyas cypxu Hepeawa xeny cyphyas cypar
enp 699Ha?

7. Haraummn repr ueurete 10 6yhm 6uas. Her
Oyhimte 2m wkoayp kyprs. Haramn uenrsre xemy
Oyhur yans?

30



9. 1+1 241 341

=t 3—1 41
4--1 01 641
5—1 6—1 7=1
Tl | 9+1
S 9—1 10—1

10. Au neep 6 moByH cyyna. eepub 1 moByH

HUCXK upB. All jeep Kely LIOBYH 0ois?
1l. Cynhyr nmeep 7 xapama cyyuna. Her xapana

Huex oxs. Kemy xapapga yans?

12. 61 | 8+1 9=
6—1I o] el 9-+1
2-ur HeMX OOJH Xacx
13. Dl 6=
44141 8+1-+1

Xowagap TOOJTH:

‘oo oolo oo olo 00 00O
olo 0olo 00 0|0 Eo oolo
24-2= 442 — 6+2= P

2+1+41 4+1+1  64+1+1 84141
2 4 6 8 10

31



14. 2=k rapynac MoOpKoBTa 4 KOP3WH aBY WPB,
Tanst Gonxama 2 KOP3WH aBY MPB. YT-TYpIUTaH TeAH
MOPKOBTAa Kely KOP3WH aBU HpPB?

15. bBonnur rapynac xypaxa Mwurg axmeH 1eH
0onB. JKkHb 8 Mumr XypaB, Mutd 2 wmuur xypas.
Murs axTehoH xamiaH Keoy MMLIT GORHUT XypaB?

16. 4.2 DALY 6= 6-1-2
DALY GHED) 9= &l
62 =) Bl 8=
82 442 =l ="
17. Al 8]
6—1-—1 0 =11
og 00 g oo oY 00 00 @
oY 00 & 00 O 0000 Y

friln o o= o
A5 Gl S O

18. Bosons 6 xamacra Guma. Llan scxap 2 xa-
lac s TyyHec aBukB. Kemy xamach BosopbT yans?

19. Capa norp 10 xapha Guie. SuxHb KOBYHIIH
2 xaphahap nertp TeBAr ToBI KeB. Capan kely xap-
ha yans?

20. 242 10—2 20 442
442 8—2 4—2 6—2
642 6—2 642 38+2
8+2 4—2 8—2 10—2

21. Tesu neep 8 mertp Guwia. Baas ToBU neep
Hakan 2 pertp TeBX. Kenmy mertp TeBu nmeep GosiB?
22, Cron meep 8 nmertp 6maa. Mura croa je-
epac 2 pmertp aBu. Keny mertp cron meep yams?
32



23. 642
44-2
242
8-+2

24, 141+1

95. Jluma xaaccyp Xap MoiHa 3 xamrtxac GosH
ary MojJHa 2 XamMTXac aBd MPB. Y T-TypIuTan kegy Xam-
TX4ac 2H aB4 HPB?

926. Muma xapha MOAHA O WMWK GogH EKHH
Q wumk ay upB. YT-TYPWITAH Keny mwmk Muma
aBu WpB?

33



gRed ] Te=l=ll
Betfe Sl
og 00 & 00 0g ocooo0g
of og 00 & 00 OY
3—2=— 5—2=  T7—92— 92—
SR el e SOEE e
299 2 == JL S 3D
=2 o g B )
57 512 51-E) P2
Byt =2 7= 9>
30. Maman. BuIo.

2 TOBUMHb NaJbTON XamukB. Maiuajg keay TOBY YJILB?
3l. Jlenan emH mapt neep 9 nepBIKH OWIe.
2 NepBIKMHL 3H KOPOOKH ToBYKB. [lapt meep xenmy
IOPBIXH YJIIB?
32. Baug 7 auct wnaacra. 2 JII/ICTap 3H GUYIr
IerTp Kex. BaHsanm kemy smct paacH yiiB?

3. 14+2 - 9-2 o+2 3—2
3+2.  7-2 5—2 7—2
o9+2 5—2 T7+2 5—2
7+2 3—2 7—2 9—-2

34. Kepump TabauUuH TOOJAC XOHPHT HeMX
nepBH npuvep OYypHoTH. TelHoH KETH.
VIrypHb: 3-+-2=25

34



35. Kepump TabmuupH Toohap xoHpWUr Xxacx
IOpBH npumep OYpHITH. TeXHOH KeTH. :

36. 51 44-2 o942 8—1
8+1 842 3+2 6—2
7—1 10—-2 7—2 9—1
10—1 8—2 9—-2 10—2

87. Tommn eep WUpa 7 uaran yoay 6oax 1 ynan
YOJIy OMK aBY. YT-TypIUITaH KeLy 4OJy 3H OK aBu?

... Vipag 8 wonyn Gume. DH yp KYYKHISH 2 Hoay
erB. Vpan kemy donyH yaus?

38. 941 8-+2 342 10—1
71 642 7+2 8—2
9—1 6—2 7—2 5—2
6—1 10—2 9—2 9—1

3-ur Hemx OOJIH XacX.

39. Slmapan Toomur Hermyaxad 3 6Gonx?

40. 14142 34142 54142 74142
24941 44241 6+24+1 74241

14-3=
00 THI+1+1
14+14+2
ol ] co’0 oloo
.oi‘go (o/é o) go’lo
243= 3+3= 44 3=
2-+14+141 3+1+1+41 4+1+141
2+241 3+2-+1 4+2-+1

41. Mox cyyahkap 1 HYK MaaTX, XeeHHb nakaj
3 HYK MaaTi. YT-TypIUTaH KeAy HYK MajTiK?
o 35



42. 143 443 243 143
2+3 3+3 1+3 443
3+3 243 4+3 3+3

,'ooooo @8 550 000/0
00 96 0 00 olo 0000
S5+3= 6-+3 73

o+ 1+141 6414141 7HI14141
o521 6121 T--241

43. Cepexa 2 aru mogsa GomH xycm MofHa 3
XaMTXaC XarcaXx aedy. YT-TypIUTaH KeJy XaMTXac 3H

Xarcax?

L

2%

44. Jloba wkoa opx HoBam cant 4 wi anbvHa
Moj, 6osH 3 OWYKH ambMHA MOJ Y3B. Y T-TypILTAH KELY

anpMHa moj J1ro6a y3B?

45. 342 442
3+3 413
242 642
243 643

St Beo
B o 443

A 743
743 6-+3

46. Kepump Ttabmuuua Toohap 3-Mr HEMX NEPBH

npuvep OYpHITH. TepyroH KeTH.

47. Bacan

Yr1-typmtan Bacs xeny AeHIUrTS?

36



48. Con emp 6oaxn Hansan 6aaBHb O apciHra anb-
Gom GosH 3 apciaHra AErTp XyJamk asy ers. Xyi-
IuH Tens GaaB keny MeHr ['aphs?

49. Her apcaHr [neep T'ypBH apCiHHT HEMX 3CB
OYpIoTH.

50 311 AUNe R oS R(E e D
BE e D)
3L L sl TR Tl O
g iy g TR S0 2D

51, i3 et nids B ) SN )
A2 i i g R
3 ke BEodo Gy e 10D
pihe e 0D

52, 3yn 6un TamaH 3 MOM TOBTH, OGapyH TasnaH
Gac Temy Mox ToBTH. YT-TypIITaH Kely MOAH GosB?

53. Buukn KyykmuH CanT TYPYJIdA yC wauar 3
cyyah xyamK aBia, XeeHHb 6ac Tely cyyih xyumx
aBuJIa.

YT-TypiItaH Keay yC¢ LAUAr CYYah Xymmk aBu?

54, Lllkon Typymaem 2 alix XYJMRK aBJa, XOOHHb
6ac Teay aix XyqDK aBia. YT-TypIITaH Keny anx
XYJIIK aBu?

Bhmdil ARl b iR GEI0  LDED
e E SRR D L
Beigh R R g o g
7alga clek 108 g% g
56 de Ohs B9 1 R0 [l
s 1.9 9ulos Sl

57. [apt neep 4 Terpr TOBTH. 3 TOrpruup asal
KOpoGKka AypukTH. Kemy terpr napr peep yams?
37
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og
22

A
Aleag) -
00 & oCc gg
oz & 00 @
6—3= 7T—3=
(=== =l T—il=il=1
©—=2—1l =2 =l
213 54 413
50 05— =S

59. Bana 7 Topak yhax 3eBro. Bana 3 Topak
yhaukB. D1 pakan xomy Tepax yhax?

60. 13 =3 3-8
2-+3 =3 623
3+3 5—8 243
4E153 409 58
Eoog toooﬁﬁ
00 gg 00 0g

8—3— 9—_3=

ST G-l

82— g2 |

6l 5.3 6+3 7+3
B8 90 i

62. 1+3 313 5+3

=3 6—3 8§—3
98 443 613
a3 7—3 95

7+3
10—3
4+
7—3



63. Bans 6 TeHrpuH Ku 3ypx 36BTI. JH 3 TeH-
rpud K1 3ypukB. Keny TeHrpu# ku nakal 3H 3ypx?

64. Monua ypu croavH 4 kel Kex 3eBTd. 3 Ke-
JUHb 3H KeukB. Kemy Kem Jakal 2H Kex?

65. 5-ac 3-ur xacx 3cB OYPIATH.

66. 3+3 5+3 9-3 5—3
6—3 8§—3 7—3 8—3
143 7+3 10—3 743
4-3 103 8—3 7—3

67. Kepump Tabmuuus Toohap 3-ur Xacx JOpBH
npuMep GYpAITH. TepyroH KeTH.

68. 2-+3 413 43 s
=3 3 = 7+
SHES) e 6-+3 9_
6248 10—8 93 10

oW W w

69. I'epun eop 6 KxeByH Haauanma. Tennac Xoiip
KOBYH Xop{ oiB. [ epuH eep Keny XeBYH YJIB?

... [epun eop 4 KxeByH Owmd. XeeHHb Jakany 3
KOBYH upB. ['epuH €op Kely KeBYH Lyh/ps?

70. 14-3 613 8—3 TS
43 9-3 103 7—3
5+3 7+3 93 i
88 10—3 T 8—3

7. 7T+ 6-+2 5—2 413
61 8+2 82 T2
8—1 9+42 o= 6--3
10-1 7+2 el gt

39



4-yr Hemx GOJH XacX.

72. $lvapan Toomac 4 Gypmue?

73. 14242 31212 92t
2+212 34+3+1 1113
24+14-3 44242 6242

74. 3yn Tanan 2 terpr Gosu GapyH Taman 4 Terpr
TOBTH. Y T-TypuiTan Keny Terpr Gous?

ele e ® o6 © Y ICEG
® |e e ole @ e®06|e ©
24+4— 444~ Gr=d
24242 419212 64242
e o ole e ® ele o)
‘ ® ® ‘ ® I
e o e |eo e e ele o
1+4= 3+4= 51+4=

14+2+42 3+242 o+2+42

75. AXHb 1y KYYKHEISH TO TOOJX MOAJ KeXI
neH Goas. Axub 6 mMon keB, Iy KYYKHb 4 MOL KeB.
YT-typurtan a6 Kemny MoJ Kelxas?

76. Bura xenupac 3 xap Terpr 6omH 4. Hohan
TOrPr Xoouw/K apaj, Nepo apuir oM Kex. Y T-Typli-
TaH Kely TOrprop 3H Iepo apuir oM Kex?

77. 5 pmeep 4 HemAar 3cB OYPHSTH.

Tk e 5-+4 gl At
214 34 14 3-+4
644 214 442 6--4
14+4 614 244 5+4

40



79. Kepump Ttabauuwe Toomap nepsur Hemar 4
npumep OYypASTH. TepyreH KeTH.

80. 2-+4
444
614
14-4

344 8—2
o+4 o0—2
644 9—-2
44-4 7—2

5-+4

10—2

6—2
34

81. WMn Taspr 4 xyem momn yphxana. Hampap
Jakay Gac Tepy XycM Mox cyyahs. YT-TypLITaH
Keny xycwm Mond wi [a3pr yphar 6oss?

82. Can morp 4 ammua Mox yphxana. Hampap
O6ac Temy ampbmHa Moj TOpB. Kepy asbmHa MOAH
canr yphar 6oaB?

83.

84,

5—2—-2
5—1-3
6—2—2

85.

86. Mapt neep 6 mon ToBTH. TyyHaCH

N0 O =~300

L el

\

lcoooS
Fall ]
N oo o

I

QN0 —
l
B DN N b

T
Ttz

2—2
1-3
8§—2—-2

l

\

\

—

SN o,
\

W w

OOC\J'ILO»b

\

g9 9
g g
10=-2-—2
4 MOL

aBan kopoOkn ToBTH. Keny momu mapr meep Y/AB:

e s £
) g £
6—4=
6—2=9

e 08 £
e ef &

8—4=
8—2-—2

coe g ©
ee0 8 £
e

022

41



87. 2+4 444 644
6—4 8—4 10—4

_ﬁ?\ e & e 68 &
@ e ®
g & @ 8 & ® 08 %

A s QA
5019 =D G _oEs)

88. 1+4 3+4 o+4
o—4 7—4 9—4

89. Cuma croaur epyH xXoT yyxn Genns. ToBI ne-
ep 6 crakan Gume. 4 crakar Cuma aBukB. ToBL aeep
KeYy CTakaH YJIB?

90. ToBi meep 7 Topax Ouma. 4 topakur Crma
aBukB. CypBp HeMaJ, 3CB KETH.

91. 10-ac 4-ur xacx 3cB GYDIOTH.

92. 2+4 644 3+4 6—4
6—4 10—4 7—4 6-+4
4-+4 1+4 5-+4 9—4
8—4 o—4 9—4 7—4

93. Kepump rtabmuuue Ttoohap 4-ur xacx nepsH
npumep OypaeTH. TepyroH KeTH.

9. 444 6—4

e 5 B
6-L4 8—4 (o )
9 e e i
A RN e

B 6 9 610, 81

s S
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96. Haraw typynen 6 énoux syps, naxax IeepHb
4 €noux syps. YT-TypuTaH Keny €M0uK 3H 3ype?

... Haraur 10 &noux 8ypB. 2 &10ukuHb 3H Oy auKB.
Keny &moux su makanm Gynx?

97. 214 8—4 — 344
4-+4 6—4 7—4 9-3
344 R e e e
6-+4 10—4 10—4 7—2

98. 5+4 62 443 543
7+4 o2 743 8-1-2
10—4 L) 543 514
6—4 542 6+3 941

5-ur HemXx OOJH Xacx.

99. SImapan Toomac 5-ur Oypmi OOAX?

100. 3yn Taman 5 Terpr ToBTH, OapyH TanaH I
TOrpr TOBTH. YT-TypIUTaH Keiy Terpr Oous?
1 Terpr 3yH TanaH, S Terpr G6apyH TanaH TIBTH.

Y1-Typurtan kegy Terpr Gous?

e e © e e o e e[e o]
e | @ | @ @ 1‘ el
® e e e eeole j|le |e o
= ==

5+1 1+5 6+2 215
e e o ele @ eeew e) (e eeeej‘
eeeee l;eoe ’:ee el; eeeﬁ
5+3 3+5 5+4 445

e ele o)
e | ® |
e ele e

5+5
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115= 2-+5=— 35+

14243 243+2 34342
445= 0+5=
414243 9+2+3

101. Con enpne wkonws rep geep 1 mx Tyr GoJH
S GUUKH TYT OprB.

Y1-TypuwiTaH Kemy TYT LIKOJWH Tep Leep Opru?

102. Lllkonun epan Her apciHb O 3ypr xaiB, HaaTK
apcaHb 6ac Texy 3ypr Xais.
CypBp To9BaJ, 3CB KETH.

103. 3 neep 5 HeMAr 3CB GYPHSTH.

104, 5-+1 BEs 1+5 el
1-+5 Blls D=9 LS
o+2 514 Heth 514
245 445 2:L5 5

105. Kepump Tabauuus toomac S-Mr HeMX NOPBH
npumep OypratH. TepyraH KeTH.

106. 545 5—2 5—3
245 8—2 7—3
445 7—2 9-3
3-+5 9—2 8—3 9 4

107. Cya xopobxn 1 terpr Gomn S Terpr LypTH.
YT-TypiiTaH Keny Terpr kopoOka 0oJB?

.. Kopob6kac 5 terpr ["aphan aBuxTH. Keny Terpr
KOPOOKA YJIIB?

\10003
»h»lk»lk

88 15 2.5 345 445 545

e v 9.5 105
b 5 s 5. 95—
e P30 3 9 3 2
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109. Hexypu cyphyasunp ueurars 8 6
yhr ye
Kex 3eBTa. O OyhwT yc keukk. Ke
IaKaj yc Kex KeprTa%, L e
110. Tlerst 7 xaphara 6ume. Llan sicxn S xapha
Faps. Cypsp Hemam, 3CB KeTH.
I11. 10-ac 5-ur xacx acB OYpH9TH.

2. 541 . ‘Bior R
145 se S e
R 8—3  9—4
65 N 8—5 9-5

113, 245 s hipaini e i S 0
445 11 5 gLIsHEER A Db
315 B e
515, s BSE0EIEEEI0E5

114. Kons con enpt 4 TyT KeB, Mans 60JIxJ1a O TYT.
Y1-TypuiTas kemy Tyr 30H KeB?

115. Kouisi 8 Tyr kex 3eBT9. 4 TYT 9H KEUKB. Keny Tyr
9H JlaKaj Kex?

116. Manst 7 Tyr Kex 36BTd. O TyIWHb 3H KEUKB.
CypBp T9Ba, 3CB KETH.

7. 24+5 6—5 gil 542
445 8—5 el 8—2
145 10—5 Ll )
515 ain ] 9D

118. Kepump TtabauupH TOOMAC 5-Mr XacX [IepBH

npumep GypraTH. TepyroH KETH.
4



119. 343 4-3 44-4 6—4
5+3 7—3 114 7—4
743 9-3 344 10— 4
643 10—3 o-+4 9—4

120. 24-5 8—5 10—3 o—4
9-+95 6—5 8—4 6—3
" 145 10—5 7—5 3495
455 9—-5 8—3 64

6 Hemx GOJH XacX.

121. Slmapan toomac 6 GypmHo?

122. 3yn rtanan 6 mepemK ToBTH, GapyH TasaH
l-vr TeBTH. YT-TypuITaH Kexy IOpBIKH 60aB?

3yH TanaH 1 1epBmK ToBTH, GapyH TanaH 6-r TIBTH.
YT-Typuita Keny NOPBIKH OOJIB?

geeE. 1 [ooe ceeo| e eleeof
eee " leee| [ecele |[le |ece|
6+1 1+6 6+2 2+6
[eee] e o[eee] [eeele o] (e e[eee
e!}g@e e’ |oee eee|e e‘fl e oleee
6+3 3+6 6+4 4+6
[EEG A Jupt 446

=g 22 o) e ] qeqa)

123. Kyykn Gyarar Haan HaauaHa. Herdp xoomo,
6-Hp GyaTHA. YT-TyplITaH Kely Kyyk[ HaauaHa?

124. Kyykn FGI:;HH ©6p HaauaHa. 2 KYYKH Jeec
Ospx erHa, 6 KyyKkH IEeCH Ieeryp ropajHa.
YT-TypluTaH Kegy KYYKI FepuH €ep HauaHa?
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125. 4 neep 6 Hemar acB GypnoTh.

126. 64-2 643 -6 245
2-4-6 316 3+6 L
641 64 416 415
506 446 2-+6 446

127. Kepump tabmmums Toojac 6 HeMAr TypBH
npuMep OypmetH. TepyraH KeTH. -

128. 246 7—3 8—4 6—5
41-6 5—3 o—4 7—5
14-6 8§—3 7—4 8—5
346 10—3 10—4 9—

129. Kepmuo waetkn 1 anhr Owmm. Boaons moxw
6 auhr toBx ers. Kepmu xeny suhrra 6oss?
... Kepmnn 7 snhr Omm. 6 snhrunb 5H vnuks.

Keny snhr xepmuz ymne?

130. 146 24-6 3-+6 44-6
7—6 8§—6 9—6 10—6

7—6=:+8_-6=""9-"6="310=6=
7—4-92 8-4-2 9-3—-3 10—2-—4

131, Jlio6a 8 anbuyp yhax 3eBta. Ou 6 ambuyp
yhauks. [lakan xeay anbuyp 2H yhax?

182. Bosmoms 10 mepBmK TI9PXK aBX 36BTA. 6
nepBmK H Toopan aBukB. CypBp TOBAL, 3CB KeTH.

133. 9-ac 6 xacx acB OYpHISTH.

134, 6LLC & 6T s 644
HE T e R 416
MBSt S Ol T
7 pianets s g b
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185, 905 e 8+1 642
U s AR o ] 9—9
e eig T 79
e igte 91 102

136. Her xeByn 3 3ahc Gopx aBu, HaaTkHb 6 3ahc.
¥Y1— rypuirtan keny sahc agH Gopx?
... Keeyn 9 3ahc Oopx aBu. 5 3ahcap xot
KX VYK
Keny sahcu amum yiamx?

137.2 neep 6 Hemx 3acB OypmoTH.
9—ac 6 xacx acB OYpHATH.

138. 6+3 3-+4 3+5 4
7—3 8§—4 7—5 7
9—-3 7—4 10—5 9—
10-3 10—4 =5 3

139. Kepump Tabuunus Toopmac 6-r xacx TrypBH
npumep OYypHITH. TelHoH KETH.

140. 8—1 8§—3 9—-6 9—
o+2 7—4 7—5 7—6
6—3 9—-2 8—6 3+95
8—4 9+ 644 9—6

7 Hemx OGOJH XacXx

141. dmapan Toonur Herayaxme 7 Oypax?

142, 7 monu neep 1 mon wemtH. Keny Goas?
1 monn neep 7 mon HemtH. Keny 6ous?
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[ oooo! 0@ @@ 0o o0e oe ee]
00 0@ ©0 00 0coooe||0ee e
7+1 147 72 2+7
@@ 00 0| [0@ 00O
®® ©0 O| |80 OO ol
743 8T
24+7= 3+7=
24+6+1 3+3+4
24-5+2 34245

143. 742 743 1+6 316
2 SHCTH =57 S
T Il 7 2+6 2-+5
1= 2] 24-7 2l

144. Kyykn ,mkon“ Gomk Haayama. Her xyyxd

Garir GouB, 7 KyykH— cyphyapunp Govixas.
YT-TypiutaH —Kely KYYK[ Haadana?

145. 3 neep 7 Hemx 3CB OYPIOTH.

146. 2-+-7 2-+4 245 3-+6
14-7 8—4 8—5 7—6
3+7 10—4 10—5 9—6
743 9—4 9—5 10—6

147. KesyHa rapcH e1pJo 7 YYPMYIHb THHY GOJIK

MpLixaB. YT-TyplITaH KeLy KeBYI uyhaps?

...0Opa notp 8 KeBYH 6uia. TenHac 7 KOBYH XopiK

onB. Keny xeByH YJAB?

4 ApudymeTika



W& Bitis 2T BT
Qi g [Tpay
gy gty 107
b e | S ()

3 apciH

7 apcin

149. 2u syprap acB OypaToH.
150. Kyyku 3 apcanrap 6monu xyamk aBy. Kaccn

O apcaH 2 erd. Keny meHr

3H X9pY/K aBu?

151. BaaB 7 apcaurap aah xyamx asma. Kacen

10 apcanr eru.
CypBp ToB9Z, 3CB KETH.

152, 7+1 7-+2
1+7 2417
8—1 9—2
8—7 9—7

743 9—7
7 ST
=3 247
107 16=7

153. Kepump tabnuumu Toomac 7 HeMX XOHp mpwu-
Mep OypmeTH, JHakaf 7 Xacx Xo#p npumep OypHITH.

1564, 2+7 3+4
8§—7 8—4
10—7 9—4
9—7 10—4

50
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8-ur Hemx OOJIH Xacx.

155. Amapan Toomur Hemxie 8 Oypax?

156. 3yn Ttaman 8 terpr ToBTH, OGapyH TajaH —
1 terpr.

Y1-typlutan keny Terpr 6ons?

3yn taman 1 Terpr Gosn GapyH Tanman 8 Terpr
TOBTH. Y T-TYpPIUTAH Kexy TOrpr 00/B?

[60o OoE‘ eloo oo] ooooo‘ e|oo oo
‘oooo 00 00 oo ool|e| |ejloo o0
8+1 148 812 DR
O£ 9—-8 10=—2 10—8

157, Hana 2 ox Toopx aBy, Baca Gomxnma 8 og.

Keny on 9IH YT-TYpLITaH TO9PK aBLXaB?

158. Hamg 10 om To9px aBX 36BTS. 8 on 2H
Toopon aBukB. Keny on oH makaj Tedpxk aBX?

159. Bacst 9 o1 Te9px 36BT. 8 O TIIP9i aABYKK.

Cypsp ToB9JI, 3CB KETH.

160. 8+1 148 841 842
148 9—38 1+38 218
8+2 Vbl 9—1 10—2
2438 10—38 9-8 10—8

161. Kepump TabmuuuH TOOHAC 8-MI HEMX XOHD
npumep GOJH 8-WT XacX XOHP NpuMep OYpAOTH.

162. 148 o+2 3+4

346
10—8 92 gi—al =6
4008 6-+3 2.5 27
9_38 103 ST Q7



9-ur HemMX OOJH XacX.

00009 (6000 O
00 0 0/® ‘00 00 O

Sl It
101 10—9

163. Kyyxnm aprom fioBap ny nyymkada. Her
KYYKH IYHIOHb, 9 KYYKH TYYT 3proji HoBHa.
YT-TypliTaH Keny KYYKA AyyJDkaHa?

164. 9+1 7+1 643 10—9
+9 10—1 7—3 8§—3
10—1 o557 o+4 7—2
10—9 9—-2 10—4 9—4

165. Consig 5 KeHUpWH Tacpxa 099HI. DKHb JaKaj
Oac Tepy Tacpxa ers.

Yr-rypuitan CoHsil Kely KeHYpHH Tacpxa 699H?

... Consn 10 kenupun tacpxa 699H9. 9 Ttacpxahap
Haaghajy KeHXJ yHB.

CypBp ToBOZ, 3CB KETH.

166019°11 2= 34.5 L7 2y
=l 75 10—7 97
e D8 0il0:6
10—9 9—6 9—-8 10—8
167: 03 ° 743 G5 Af0Lg
-5 & 54 E 4 fo07
95 36 s 510el
e Bl 7 Bid
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Hemuhuo Tabmaun
1+1= 2
2--1—88 142= 3
3+1= 4 2-+-2= 4 11-3= 4
44-1= 5 342= 5 243=5
o+1= 6 442=— 6 34+3= 6
6F1=17 S L 443=17
7T+1= 8 62— 8 53— 8
8+1= 9 Tek9= 9 §3= 9
9+4+1=10 8-2=10 7--3=10
14+4=— 5
2-14= 6 1+5= 6
3-+4= 7 95— 14+6= 7
41 4= 8 Sl 5y 9--6= 8
5400 4-45= 9 3-+6= 9
6-1-4=10 5--5=10 44+6=10
et
24-7=9 1+8=9
| 317:10 2D 7910
Yanane 0 (Houb) Goaxr xacihH.
2—2=0
168. 3—3 bEl 88 9
6—6 T 4—4 2
169. 44+-4— 8 446-8 1+7— 2
246— 7 1+-8—9 34+6— :
3+7—10 44-5—6 2-+8— 2
2+5— 5 14 B2 3171
170, 3107 =g g~ =2
SR QuugHEg 9—6— 3
Iy VD el

l

N ©

\



MeTpap 10 KeMKJIIB?

171, Knaccnn yrur nmxmap xemkaart. Kmaccun
yTur Mmetpap kemxaaTH. KmaccuH eprur typysen
WIUKMAp, JaKaJ MeTPIp KeMMKATH.

172. TecbMan GOJH I€ECHY YTHHD METPIP KEMMKIJITH.

173. Xary naacap ac rmx yuuap MeTp Kex aBTH.
['epuHHb ©paH yT OOMH OPruHb METPIP KEMKIITH.

174. Ytnan 3 metp yuu KeMKo/nK aBTH. TyYHICH
1 merp toopak aBtH. Kemy merp yuus uamb yiInB?

175. Yraau 5 meTp yuu kemkamK aBTH. TyyHocH
2 Metp TSP aBTH. SIMapaH yT yuuH yuiB?

»MeTp* ruAar yrur axpap MMrk OMYIMH: ¢
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176. Kuuart 3 M an opx, Gymmyar 00aXJa 4 M.
Kaunr Gywmyn  xoiipr  yr-typwrtas Keay —METP
AL OpK?

...XyBu yiiad 9 M anre Guue. Kwuwir 6YUJMY§
XoipT 7 M a1 ops. XyBu yiaun kexy MeTp 34 Y/IBr

177. Ypu xaphahac 3 m kepomxk aB4, AdKal Gac
2 M KepomX aBu.

CypBp ToBaj, 3CB KeTH.

« ¥Ypu yrian 6 m xaphara Guue. [Tonm sicxap Te%
xaphahac 5 M Toopx aBu. $lmapan yT Xapha Y/UIBr

AABTIhH.
178. 24242 5+1-2 1+2+g
5+142 8+2—1 44—3+~1
44211 500 6»3~3
64212 9—1-2 10—2—
179, Censt nohan maacsac 5 énoux GoaH uahau
[aacHac 2 EI0YK X99U/K aBy. ;
YT-TypuITaH Kely &1ouk sH Xoou/nK aBY: ,
...Censt 7 €104k X99umx apu. 3 énouk AY KYYKHISH

Gear rux ers. Keny émoux Comsp yaaB? :
0



180. 6 meep 3 HemMx 3cB OYpISTH.
181. 10-ac 3 xacx acB OYpIRTH.

182. " =B L 12 B8 13 il
B Qe o =g —3
HE=JE=D) 24343 gegs 3
e aIE 0 S R e

183. 4 6 3\ 10

6 9 5 8
Gl e e S R

5 10 4 9
184S ED e e T e gre ity
Byl Bl 41511 =2—=5
To—dl_i| o= Bl O)s Gyik /il
== ==0) 10=5=2) Tl By

185. Cpernan 6 M JeHT XyJmK aBu.

3ypr coaxpyaxep aH 4 m[aphs. Keny merp jent
YYHI YaaB?

...CBetnann 2 M JieHT Owid, Makam S M XY/ aBy.
YT-typurtad keny M Jedt Cersang GosHQ?

186. 5 m neep 4 m Hemx 3cB OyproTH.
187, 10 metpac 5 M Xacx 3acB GYpHoTH.

188. fesdd e A 5124 6—5-+4
843 R @55
o S be=d=3 9 4.4
10—3—4 g st 3 B--5L.5
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189. 16 8—6 3+7  10—8
36 F10=6 S DS
24-6 =6 248 10—9
416 9—6 LD 9 0 7

190.

3 10 1 9
AIIII» A'II!a j'IIl leIl

191. Jlena xap Goin Oyarta kapanpamra. Xap
KapaupammMyaHp 2 6ume, Oyartadnp 6oJxJa . ...

Yr-ryputan keny —kapanuam Jlemaxm  6o9x?
IlyTiax To Heman, 3CB KETH.

192. Bacg gertp 6omH anb00M XyJUK aBy. AnpGom
6 apcan xyps, mertp .... apcaH KYpB. YT-Typlutan
IErTp, an,00M XOHp Kely MeHrHd GOJB?

Hemon, acB keTH.

193. DukHp keByHpeH cyyah OOMH KYP3 Xyummx
aBu ore. XyJji Kedy MOHT 3H erB?

Hewman, ecB keTH.

1949. 246—4 14-7—6 1+-9—8
4625 3-T—8 L 10917
9616 9—-8+7 9—6-+5
Tadee A 9746 10—7—3

195. 5 9645 . 8--1t0 1095 7
86+7 10—7+T 9—8+4-8
10—6+3 g7 5 0 —d
7—6-L9 10—8-+-6 ==



u\w

il

196. 7 wyH yamu XoT yyx sesto. Huna cron neep
S yxp Goan 3 cepo TOBK.

Haxan xeny yxp aH aBu uxp?

Haxan xeny ceps keprra?

[ “Wl
E l\h" "l‘

197. 3 mon TeBTH. 4 MomH Gosgrap, eepHb HaKa
KeNy MOI TOBX Keprrar

6 Moms GoaxuH Temd 4 MOAH Keay MOL TOBX
KepPrTa?

198. 2+...=3 +2=06
44+..=6 +3=7
7+..=8 ..+5=10
l+..=4 ... +4=9

199. To omx aBAr HaamH.

Cyphyaey 4 neep Tanman
KapToukj GJ3CH TO HEMM, Teraj
6 Gomx.
~ TaljaH KapToykjl sMapaH TO
O1YaTe 099K?

WMumM Haaj nHaanTH.




XOMPArY APBH

Toousuha Goan To GuuahmH.

L.

%Hﬂ]LUHHHHJHHFHHFD
L 1] l[lilllllill[ﬁf%
s 0 0Hh HFFFAD

200. 1 momur apsH MonH xeep TaB. Keny Mo 6o/18?
3 mon apei moxH neep ToB. Kemy moms Gous?

gl

201. Kegy momn 3H 3yprT 3ypata 0dsHs, Temy
MOJIl T9B. .
Keay apen Gous Kedy EIMHML 9H TOOX 039Hd?
202. 1) HepsH MOX ToB.
2) Apen gepsH MOA TeB. Keny apsr Gomn
KeLy eluHul H TOOJA 093HE?

59



203. ApeH TaBHI Keny apBH OOJH Keny eNuHHMIL
093H? ApBH HOIMHA? apBH HHCHI?

204. fimapan Toon 1 apBH GomH O eguHMLL GI9X?
1 apBH 9 emuHMU? XOip apBH?

205. 3ypr GoahHa keny KaeTK GI9XMD TOOIL
Jlopb 69acH TO ywMiIL

T T e
+ H E% :3 j
e e o

| % %
6 e 19920

206. Keny apeH O0sH K€Ly €IUHHUL HUM TOOLT 099X:

Hegalae oulbp o 18P 107

Apsazn { Enunuumyn

|

|
|
|
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207. TaGmauwn 3yn tames 1 ruar nudpre xap-

TOYK TOBTH, OapyH TaiHb 4 ruir UU(PTS KapToux
TOBTH.

Amapan To Gypns?

3yH TanHb 1 ruar uudpre kapTOUK TOBTH, GapyH
TanHb 9 ruar uudpre KAPTOYKTIBTH.

Slvapan 10 6ypns?

208. Wum 1o ymmrr: 13, 15, 16, 19, 20.

209. Mum 10 6HuTH:

19 3 AN e TR gg ()
1112 13014 15106 17 #8712 20

210, Svapan 1o gyTKaxuHb AapaH — IAPAHIHD
KeJITH:
T T =77 (8] 20|
B e

_—

% ?
211, 11-aru xagxun papy KeRyAri XgJIX?HOBX.
16-ru xanxun napy? 18-ru XanXuH JIapyr

giioiap
SRR
e S 57%?);1 il
QY 7—2 e 100 iy

8—1 ToLol Hpap-2E2

213. 8 neep 2-ur Hemx 3CB OYpAITH.

NiE3 14414

214. 513 6+4 ﬁjg:ﬁ 24444

g:e? ?:4 3/3/‘; 13:4:3
e gL IENE 0ege e

215. 10-ac 3 xacx 3cB oypARTH:
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216. 415 316 3156 I=E6=h

Tosip e 1056 416—5 9eEf =5
9—5 7—6 gelisi g 9—5-16
g5 9—6 i e 8—6--5

217. 8-ac 6 xacx acB GYypA9TH.

218. 317 149 o8ty {oE=gt iy
[m g L0 9.8 gLr o8
SiEs  n e  ey 98bn =5
10—8 9—38 e e 03 =5

L

219. Koasn 10 menwr 6oan 2 peHiur O99HD.
Kons yr-Typuitan xemy neHuirTa?

220. 10+2 1015 110,00 4410
0B A e ST R ST T
T E R 410

221. Hamsin 10 menmr G6oin 5 peHmr O99HS.

Hanst yr-TypinTan xemy HeHLUTTS?

222, Axup 10 peHwrts, ny kyykHb Ooaxaa Gac
TeAY NEeHLUITd.

AXx 1y xofip XamJaH Kely MOHITI?

223. 1012 1043 110 5-+10
1044 j0e=ses g 310
101-6 (7o 810 9110
1048 104+9 6410 7410

224001 4 103 10--6 1049
4410 3-0.10° < 6-1-10 9-+10
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@eoee@e00e
CEELT

225. XyBu yiiaun 15 T0BY OWI9. 5 TOBUMHD KHHIIT
9H XanB. XyBU y#aun Kegy TOBY YJIB?

226, 1041 10+3
s 13— 3
11—10 13—10

227, 198 i 12—10 13—10
27. 120 008 G0l e Ry

14 —4 19—9
[ g" WE s HHhI0 113”118
15—5 13223 17—10 37

228. 14 mon xoiip Oar K€
4 moxm ToBTH, ysncHHbL— XOHP
MOIH XOHparu Gart 639X?

229, Xosp kopo6in 16 Ka
poOxn. 6 kapanpam, HaaTKCH
Xo#pary kopobky ey kapanaail

230. 1000 5 e bR T

2110 6--10 1% 17—10
12— 2 16— 6 15’12 1;: 7
1210 ~mlpeatos < Sleas

s canhTH: Her OartHp
ary GarT TOBTH. Keny

panjiall 099X: HEr Ko-
b— XOMPATY  KOPOOK..
099K?

231. 343410 5~2+18 ig~}g~{«i
il kUl
ey Lo ) 17—10+4-3

DIl i _,_4—{——10
+9-410 9 i



932, Buuxn kyyxaud canr 14 maur 6ume. Temnac
10-ubxap, HaaTkcHb-Liahan maur. Keny nahan msur OUJIa?

233. Iuonepmyn OuukH Kyykaud cant 18 maanha
KelxaB. TengHacHb 8 Haanha ax Hacta KYYKAT Kex?
[Muosepmyn GuuKH HACTAa KYYKAT KeIX Haamha Kex?

234, 414110 9—3-1-10 14—10-+6

946110 [ S
el o S S s R e
3710 gt o RT3

AprHac nasgyra HemJihH.

235. Keny apBH OOMH Kexy eIMHHLIMYJ HMM TOOLT
099H9?

12-1? 16-1? 18-1? 19-1?

236. Ypha monnac 12 xapha mox Gomn 2 xycm
MOJL aBY WP} YT-TypLITaH KeLy MOL aB4 MPHK?

1242
2+2= 14
10+4=14

237. 214 G| 144-2 1841
12 -4 171 Jatisg 12-1-3
45 1529 1Y 1613
1413 1l-=8 144 1842

238. DBuuxn kyykaumd cagr 13 OuukH Haanha
Gond 4 wk Haagha G29X? YT-TypluTaH Keny Haanha
099x%?

239, XKuann asxaun kaacen 11 fmahod coH cyp-
hyabusp 6uia. Xeenns TeH neep S koo HeMras. Knacen
xeny iuahsu caH cyphyapunp Gosis?
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240, 19
112
3ke
1343

241. 145
1115
iy
117

543
15-13
444

14 -4

1413
11158
12--6
135

[9is
1312
1512
163

1514
13-1-6
1245
1613

14-1-3
13544

12-+-4
15--1

13--5
1146
1415
15213

242, llxonn Typy/Man 15 amx XyJmK aBy, nakan

X00HHL 3 asnx agBu.

Cypep ToBam, acB KeTH.

243, Ilkonn 11 aypr Goox. [laxan
dBy, yT—TypHJTaH Kely 3yprra 60.1B?

Hemon, acs rern.

244, 11 5
1444
126
153

E72ED)
1314
1158
12--5

1443
13-L5
i1
136

..... 3YPr XyJImK

1514
1207
12-1-3
1415

245, Kyykn 15 uahan terpr GOJH 5') Xap Terpr
SYPX. Y1-rypiuran xenxy Terpr oH SYypH:

O000@
8leleie O

247. Cyphyabu TY
YMUDK, napyk eapTHb —

SH yMmIK?
5

Apuduerukg

J5 105k
HE5= 0
10+ 10=20
1948
1857

pyH enpToH LErTPHH 12 xanx
xanx. Kelly Xanx Xo#ip enpr

%



248. 11 xeByH 6oaH 9 KYYKH IOLIAT MOCTS Ta3pHr
1acHac LeBpJaB. Tep rasp meep yT-TypLUTaH Kexy KyYKIL
KOIUIK?

249. 15 neep 5 HeMX 3CB OYpPHATH.

250. 1416 18-1-5 14-1-6 [3e07
1255 1943 2L3 1514
[il=g (5 16--2 1258
1 164 A 7

251. 3yn Ttaman 11 mom ToBTH, GapyH TamaH—
3 MOA TOBTH. YT-TypiiTaH Keay MOMH GOJB?
3yu Tan 3 mox Goan Gapyd Tam 11 MOA TOBTH.
Y1-TypluTan keny MomH OOMB?

252. 11+-3= 141+ 4= 18+ 2=
3+11= 44+14= 24 18=

253, s A DS R B TS
(-SSR i, e B A
B 3 s S

254, OBauH 3KALI 3yphas KeBYH JblKTa OuIa.
Xeennb fakan 14 cyphyJapunp JbDK XyJLK aBd.
Ona sbixTta xeny cyphyabunp 699Ha?

255. Bubanortekn werary KaaccuH 7 cyphyabunp
6wvuras, xeeHHb 12 kyn naxap Ouuras. CypBp ToBA,
3CB KETH.

256. 9 neep 11 nemx 3cB OYPIITH.

257. 2116 1£1215 4116 6—2113
1412 2413 8415  5—3417
SE R T S T ) g—B-|-12
I [ SRR | 6414 10—4+14

258. 20 xyprta xouagap TOOJTH.

TaBagap 20 KypTa1 TOO/TH.
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259. 13-1-6 B ] 823
sy [Gebd e i oy L
1244 1R B SR G TG
Lers TAZL 3 g AR s g SR

260. Takacn kyykH xorT erB. TYYHI O Xap TaKka
6oan 11 mahau taka 6uma. CypBp TeBal, 3CB KeTH.

261. Jlbkap HoBAr Xxo¥p KoMaHl powixap [‘apu.
Her xomanmanp 12 kyH 0o, HaaTKIHb — 8 KYH.
CypBp TOBOL, 3CB KETH.

262. 75110 ) 8—6-+18
gl a0 SE=soi] Qo
9e—Rell 1) T Ao 7 —9-Leig

lien emunuuz wx gyl

263. Kunaccun wmoTkuH Heraruy cyrhyrt 7 dc
TOBTH, XOHpAr4y cynhyrt 6ac Teny sic TOBTH.

264. Heraru cyshyrr 5 ac ToBTH, XOHpPArY CyH-
hyrr Gac teny Goin faxajg neepHb 1 sic TOBTH.

Xcripary cynhyr neep Heriry cyHhyrr opxHb Her
SICH yJy O0oJB.

265. Heraru cynhyrt 6 sc, xofipary cynhyrt
6ac Teny OOMH Hakal 2 sIC TIBTH.
Xo#ipary cyshyr neep werary cynhyrr opXHb Xofip
SICH yJay OoJB.

5% 67



266. Her 3eprioni 7 1ePB/MK, HAAaTK 3ePrJoHI
TyyHoc 2 MHOPRK VJAY TIBTH. Haatk seprasnn
Kedy IOPBIKH O39HI?

267. Her xeByHn 4 xyOuk erx 3eBTd, HaaTK -
KOBYHIHb TYYHIC 2 KYOUK YJY Orx 3eBTa.

HaaTk KxeByHI kely KyOuK erx 3eBTd?

268. [lock neep HEr 3epridHL O MOL 3yp, HAaTK
3EPrISHIHO TYYHIC 3 MOX YJay 3yp.
Haatx 3epraoun xeny monH OoJB?

269. [lersn 6 mertp, Muman Goaxma 4 mertp
yay 6oona. Keny nerrp Muwan 699Ha?

270. Her wmaccn 10 fmaren con cyphyubunp,
HAATK KJIACCOHb THUMM CYPhyJabuHp — O KYH Y1y 099XK.
Keny fimihon con cyphysbunp HaaTk kiaccn 6997

271. Hernry toub 8, Xo#pary ToHb 2-T YJay.
Xo#ipary 1o simapaH wuk? 8-ur 2-t wmxkayya Keny
6ousiB?

272, TypyHk TOHb 7, HAaTK TOHb 1-HI YJY.

Haatk Toup xemy 060aB? 7-ar l-n wuxayatH. Keny
60J1B?

i L e e el BT )
10-F 8- 101 5%t Li1p. 1181210
e (ot o o e i S5 )

274. Haags. ,,Munn sHer rapt 3 MOIH 099HD,
HaaTK rapT™M—2 MOIH yay 069sud. Kemy monH Haati
rapt 099XMHb O/ AaBTH“—THX KOBYH KeJB.

Tann Gac nuM Haan HaanTH.

275. Vknyar:

11-ur 2-T; 14-ur 3-r; 13-ur 3-1;
12-ur 4-p; 16-r 2-7; 1l-ur 7-m;

276. Bbuukn xyyka Haagar onhy 11 apeiH KypHS,
kepmH onhuac 4 apcanp yuto. KepmH keny KypHa?

277. Beema 12 apcaH kypHs, ampuyp Oeendhac 6
ApCJHT YJay YHTI. AJb4yp Kely KYpHo?
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278. Tanman TO oOpyJajl, OMHK 3CBJI9 911 3CB
Oy PLITH.
279. Iy keBynb 10 Hacra, arunb ayyhacu 3 HacH
ax. DruHb Kemy Hacra?
280. TanmaH TO OpyJak, OMHK 3CBIS 941 3CB
Oy pHTH.
281. 1216 14+4 1812 I5-L5
14+2 1642 14+6 1346
1144 1541  13-+4 1842
1343 1243 1149 1445

282. UxnyaTh:

12-ur 2-1; 13-ur 2-1; 15-ur 5-m;;  2-ur 12-1;
14-yr 4-g; 16-r 3-g  18-ur 2-1;  3-ur 13-n

283. Her anru 14 kepm Gopx aBu HpB, HaaTk
auru tyysac 4 xepm yay aBu upB. Keny kepm HaaTk
aHr4y aB4Y MpB?

284. Pas 13-ta, TyyHe axup 2 Xui ax. AXHb
Kely Hacra? :

285. baaBub KkYYkATOH 2 Haagha xynmk aBd.
Her waaghasb 11 apciH KypB, HaaTkHb TYYHSC 3
apciHI YHTD.

HaaTk Haanhawp xeny xypB?

28671303 RPNy e o
15504 jgailyp" ARl g AR gui
1156, a0 e e 1ot e
287. Wknyaru: :
13-ur, 5-m; 8-ur 10-r; 3-ur 11-m;
17-ar 3-x; 4-pr 12-t; l-ur 19-m;

288. Her kopobxn 6 yar 6osHo, HaaTKHbL TYY-
Hac 4 yar yay. Kexy yar HaaTk xopoGkp GodH?
~..Her xopobkn 6 ysr, Haatknus 10 ysr GooH..
Xorip KOpoOKA XamiaH Keny y3r 099Ha?
69



289.  Kyykn wer enp &k coaxpynx 4 waanha
KEB, XOWPArY OAPTHb TYYHaC 2 Haagha yay Kes.
Keny naagha Xo#paru efprToH Kex?
-Kyyxn wer enp é€nx codxpynx 4 naapha ke, HaaTk
enprHp 6 naanha keB. Xo#lp exp TenH xexy Haanha
KeB?

290, 10 e T o 19 sl
et s e g
SR e O g BN )

291. Japyx toogur 4-HI HKIYJITH:
G (08 (5 S Ll | TR (6

292, Ypya wmonnac xoiip GaxH aBy upB Her
OaxnHb yTHaH 4 M, HaaTK GaxHHb TYPYHKSCHb YTIaH
3 M yay.

Haatk Gaxu amapan yT 699x?

293. Tanman TO OpyJaj, OMHK 3CBI9 9T 3CP
OYPAATH.

294. Her eponp eprumen 6 m, Haatk ©paHb TYY-
HIC OprHmdH 3 ™ yay. Haatk eponn siMapan eprH
699xK?

295. Xyyus rep exnp ton 6 M. LLlun rep OGoa-
xna 14 merpr yim eunp. Lllun rep simapan enup?

206. Tanman To opynal, OMHK 3CBJ3 1 3CB
OYpASTH.

297. Xofip ampMta TOpJAK 3YpPTH, 3yr XOHpAru
TOPJKA TYPYHKSCHb 2 aJbMH Yyay OoJarap.

298. TertpambT XOHp CTOJOWMK KIETKYL 3YPTH,
3yr' XOHPArY cTOAGMKI HETArd CTOJNOMKI OpXHb 4
KJIeTK yJay Goanrap.

S s e g 7 o 104113
e U e e T B S
FESDECAIE B3 8617
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Her temarte To apBHac jgaeayra xacuhm.

300, 5—2 gy 7y gt ot
10-1- 3410 SR S E 4 N0 L7 SES0 L6

301. Kopobkn 16 apanpam 6una. Tyywoc 2 ka-
panpai asukk. Kemy kapanpain KopoOKI YJIK?

302. 8—4 19— 1] 18—4 4=t
]84 =) [5==> 18—2
5—3 16—3 Wi 191
15—3 8= = 17258

303. Ypu 18 cryn scx 3eBta. Tyynac 6 cryn 3H
acK. [lakan keny CTys aH sicx?

304. [lupmeu 16 yym mwMpox 3eBTe. O YYA 3H
wrpax. CypBp ToBdJ, 2CB KETH.

305, “i3=1] T 19—8 16—5
gl 16—5 I8R5 16—
Tt 19—6 15=4 I8-26
1753 17—5 =5 17 —4

306. 1655 18215 B TASe] 715 o
1904 il 18 16 19

307. Hertp 17 xanxta. Kyyks TtyyHac 6 xanx
ymunK. CypBp TOBIL, 3CB KeTH.
71



308. Oas 10 rerpr 3ypx, Jlioma Goaxma Ouas
hac 8 terpr yay 3ypx. Kexy terpr Jliona sypx?

... Jltona 18 terpr 3ypx, TenHacHb 6 Terpr Oy LK.
Haxan xeny Terpr aH Oynx?

309. 6—3 548 141-3 613
163 153 43 6 —3
9—4 ge 7 1514 172122
19—4 A R e =2

310. BaaBn 20 eHarH Ouid. 5 OHATIP XOT KEX.
Keny enmra yami?

Looooo coooo 20—5=

10—5= 5

OOROHONON o MR = By

31l. 20—1 20—4 20—8 20—3
200 20—6 20227 20—9

312. Heraru xmaccud cyphyibunp &1k C99xpyi-
xop 20 wHaagha xex, Tennac 6-Hp OosixJaa Llaacap
HAaTKCHHb — KapTOHAP KeX.

Kapronap xeny waamha kex?

313. ®ens KOpa xoip xammadn cod expt 20 ymau
on kex. Pens 8 om kex, Haatkcuub [Opa Kex.

CypBp ToBoxm, 3CB KETH.

314. 10—2 10—3 909 20—9
20--9 20—3 )=tz 20—3
10—5 10E7 S0E"1 20—6

20—5 20—7 20—4 20—7

~!
o



315" =

17

6o
8 2 19|

S

316. Taus 16 ortkpeitkta Owia. ["apcH expTHb
nakan 4 otkpeitk 6earmk. TaHsI Keay OTKPBITK 639H?
Taustn 20 otkpeiTk Owme. Knaceun ampOom

Kexq 3H 6 OTKPBITK OrB.

Keny orkpeitk Tansn yuias?

317. 1442
16-1-3
1216
1347

Ll
4116
9117
5113

1243
15—3
1445
19—5

17 +3
20—3
1248
20—38

318. [apyx npumepmya 3aarac amsb 13, 14, 15,
16, 17, 18, 19, 20 Goaar mpuMep OJK ABTH:

(35155
D

20—6
16 4

19-—=H3
DT

319. byhwr 10 crakan ycH 699H9, OMUmOHA TYY-
Hoc—6 craxan yiay. Keny crakad ycH GunoHn Gosna?

... bumonn 16 crakan ycH 6ume. 5 crakan yc
VIMH XOT[H aB4. ylMapaH MK YCH OWIOHM YJ/aB?

320. 10213
164-9-1-2
13284
i AL

17—1—-2
19—2—2
16—1—3
18 —3—2

20—2— 4
20—4— 3
20—6— 3
20—7—10
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llen enununy Gahpyaalin.

321. Knaccun wortkun Herary cywhyrt S fc
TOBTH, XOHpary cywhyrt Oac teny sc TteBTH. [laxan
xoipary cyrhyrac 1 ac xait.

Xoitpary cyHhyr geep Herary cyshyrT OpXHb
1 acu 6ah Gous.

322. Knmaccun wortkun Herary cyhyrt 7 dc
TOBTH, XOWpArd cyshyrT TypyHkacHb 2 sic Gahap
TOBTH.

323. Her keBynn 4 xapaHpgauw erd, HaaTKAHb 1 Ka-
pannam Gahap erx keprrta

Haatk keByH Kely KapaHpall aBx?

324. Her a3eprieHn 5 Terpr, HaaTK 3epPriIoHI
1 rerpr 6ahap 3ypra. Haatk sepraonn xemy Terpr
3yYPX 3OBTI?

325. Her seprioun 6 nepemx, HaaTk 3epriadHi
2 nepemk Gahap teBTH. Haark 3eprasHm Keny
LOPBIKH 00JB?

326. Ilera 8 uunnhts, Muman tyyuac 2 uuHhH
nyTy 099Ha. Muma xeny uuHghTa?

327. Cens 9 xermkphrs, Bonomsm Goaxma S
kermkphu nyty GooHa. Bosmons kemy xermiphta?

328. Heraru toub 8. Xo#pard To TyyHIC 3-HI
Gah. Xo#pary to smapan?

329. Her toub 10, naatkub 2-1 Gah.

Haark toup smapan? 10-ur 2-t Gahpyata. Keny
GoaB?

330. 15—5 14—10 15—10 710
li7tiy 16—10 14—10 13204
18--3 11—10 16— 6 19—10
19—9 =il 1RE2 8 e

331l. Haagn. “Her xaprouk nmeep 10 ruar To

Ouuate, HaaTk KapTOuk neep 3-HA Oah TO OnYaTS.
74



SlMapaH TO HaaTK KapTOYK[ O9XMI OK aBTH., — IHIHK
cyphyabu Kess.

332. SImapan 10 14-3c 2-v 6ah? 15-ac I-nm Gah?
18-ac 4-Hn 6ah?

333. Ambom 8 apcaH KypHs, Oyar Gonxaa 3
apcaHrn kuMj. Byar xeny kypHo?

334. Kactpromn 20 apcaH KYpH9, yaiiHuk 0oJxJa
5 apcaurn kumi. YaiiHuk Keny Kypro?

335. Tanjan TO opyJiall, OMHKJIS 1 3CB OYPAITH.

336. Axup 16 nacra, oy KyykHb OoixJa O HacH
ny. Jly KyykHb Key Hacra?

337. Tannad TO OpyJiaf, OMHKII M 3CB OYPHITH.

338. 1049 7--10 166 15—4
1355 4115 14—10 8=
1703 5112 19E=%D =6

339. Baas xyykmron 2 Haagha xynmk abu. Kk
naaghane 16 apcian kyphe, Onuxs Haaghaus 10 apeanrn
kumi. DuukH Haanha keny KypHa?

340. 3o0s 14 wHacta, Hiopa 4 naca ny. Hiopa
Kejy Hacrar

... Hiopa 10 nacra, nysb Tyysac 3 HacH ny. [Lyub
Kely Hacrta?

341. 17—10 j4=3 144 3 20— 8
1as % (2256 b 162578
8Ly 191y D03 17458
16553 20—5 16245 Vi

342. bakpyatn: 6-ar 2-1; 14-ur 4-up; 15-ur 5-upn.
Ukayaru: 6-ar 2-1; 14-ur 4-ug; 15-ur S5-vu
7



343. Bousons 5 OyArTa kapaHnaiiTa; Xap kapasiali-
MyIHb 3-Hp Gah. DH Kely Xap Kapanjauita?

... Bonmons 5 Gynrrta GonH 2 Xap KapaHpallTa.
Y1-typuitan Bosoms keny kapanpaiira?

344. Huua axgen caB yhaxn new Goas. Huna 4
IYH TOPJK yhaB, xop Topak Gosaxaa 2-t Gahap yhas.
Keny xop tepiax Huna yhas?

345, 14153 199 kg 19-23- -6
) l6=5 0y onEEaE Ty
13+5—8 904 1o gy ekl

346. Hapyx toomur 5-Hm GahpyuTh:
GG ERRI @ 20 051

347. Mepn Gomk Haamxp XKeus yTman 3 M Je-
ects, Murs Gonxsa 1 meTpT axp neecte Oue.
MursH neecH smapaH yT?

348. Her xaphau yttb 9 m. Haark xaphaub TyyHaC
3 M axp. Haark xapha sivapan yT?

349. Tangan To opyJal, OMHKID 941 3CB OYPAITH.

350. Kyn xypar raspr 2 &1k 30rcas: HerHb OHAPTIH
15 M, Haarkup 3 M mawTr. Haatk énx simapan eHip?

351, LlIkoanH emH 2 XycM MOAH yphiKaua: HerHb
eunproH 16 M, maatkHb TyyHec O M Mawrtr. Haatk
MOJIHb sIMapaH OHILpP?

352. Xofipary TepakI Herardx opxHb 1 ahypur
Gah Goaxap, 2 Topax ahypur 3ypTH.

16



353. Xofipary CTOJNGHKT HETATHL OPXHb 3 KIETK
Gah Gosxap, 2 cTonOMK KJIETK 3YpX aBTH. Tyyro
KapaHjamap OyaTH.

354, 10--8—3 1778 [REE=ES
16--8—5 16 —5-+ g =0
114-9—56 o0e—7-5 90—= 1324

Yyaaspra acBc.

355. Keyn Typynen 4 onhu kex, nakan 1 onhn
kex. Xoip oxhuuub 1y Kyyknion eru. Keny onhu
KOBYHI YJIB?

356. Hansa typysmon €nx ceaxpysar 3 Haanha kes,
JaKaJl XeeHHb 2-UI' KeB.

Her naaghar a8 yp Kyyknmou eru. Kemy Haanha.
Hapsin yans?

357. Cous typyJaen 6 Terpamb XyJamK aBy, HaKal
neepHp 2-ur aBy. TyyHacH 3 Tetpams axuan erd. Keay
terpanb CoHsin YJILK?

358. 10-- 8 1612 34-15 104 6
10 SS 1344 e i 1618
310 1246 4116 8112

7410 1049 6-+13 5+ 13

~)
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359. Kyyxs myn apunr wotk 3 apeinrap 6om 1
apeaHrap cepHka xyrax aBu. Kaccn & apean eru.
Keny MOHr 2H X9pYJX aBCH?

2 apeiy, 3 apcay 1 apcay

360. ZH 3yprap OMHK/Id 9T 3CB OYPHITH.

361. Dukue KeBYHISH O apcaHra nmertp GosH 4
apcadra ambOoM xyamk aBu. Kacen 10 apean eru.
Keny meHr sukHb Xopy/mK aBu?

362. 16— 6 16—4 o) — =7
flal— 4l JRES 0 — =5
18—10 7 —5) 20—6 20-=8
(32210 19y 20—9 19==3

363. Lllypam 5 Terparp Omma. IIyynoH Her TeT-
pans eru. [lakam xeeHHb 2 TeTpaib Xy aBu. Lllypa
Kely TeTpambTa 0O0JB?

364. Hiopa 6 ayprra 6ums. [y KyykHmsH 2 3yp-

ruib eru. [lakam Hiopa 5 3ypr xysmmx asu. Hiopa
KeLy 3yprra 6oJB?

365. 1315 16--4 1413 512
55 20—9 18225 20— 9
19-L7 17:-1.3 19—8 6413
19-—7 20—6 18-+2 iR 7

366. Boukn 15 cyyah ycu 6una. Tyynac & cyyah
xyBu yhaxap aBu. [lakan 6ouxkyp 8 cyyah yc kex.
Keny cyyah ycu Gouxn 60.8?
78



367. Iepun eop 10 keBYH Haauana. Jlakan 5 keByH
fieepHb UPB, 3 KOBYHb Xdp¥ O/B.

Keny xeByH repus eep ymiB?

368. Katokm 8 kyykH nounkana. 2 KyYKHb Iaa-
pan xopx onB. [laxan XxeeHHb 3 KyyKH upB. Katok
Jeep Kemy KYYKH Haagir 6o0/B?

369. 109 16—10 W) — & 20—4
624 15 4 16— 6 1643
20—1 g 1217 19—5
[RE=D 19=—14 14—10 1148

ApsHac naBapn HemJhH.
370. 10 Gonprap 9 neep siMapaH TO HEMX Keprra?

371. 8—1 104 Gl AL gENEY 35
=il 107 LT 94148

372. 9 monn neep 1 moxn wemtH. Keny monn Gous?
... bypuncu apeu neep mexonm 2 mox HemtH. Keny
MOIH 60.sB?

@®
0000e

94+ 3=
9+1=10
10+2=12

373. otk meep 9 gc ToBTH, maxkan 4 sic TOBTH.
YT—TyplITaH Keay sICH ToBrAB?

374. 942 945 946 947
9+4 9+8 949 943
79



375.- Baxsan terpampT 9 aypr Oume. DH makam 3
3ypr 3yps. TeTpambT yT— TypLITaH Keay 3ypr GoJB?

376. Baps 9 myar ueexap MefiHs, 3uHA TYYHIC
2 wyar yay meadd. Keny myar 3uHa menHa?

377. 9-1-2 914 9-1-6 8903
95 916 9-1-8 REoUIEp
9-1-3 9--9 Gl gliEnils

378. 10 Gosnrap 8 meep kemyr HeMX 3OBTI?

379. 3—2 b SEEOSE D 8-t+2-1+4
D) =, UL getoLp

843=
84+2=10
10+1=11
380. SEl 815 817
846 88 8-1-9

38l. Lllkonui con empT Heraru kiaccud 8 cyp-
hyaeu ny nyyas, 4 cyphynby wwyar yMus.

YT—rtyplutan Herary kjaccun keay cyphyiibu
COH @I 3PAMOH Y3YJB?

382. Keryun 8 mertp 6ume. Tyyunm nakam 5 nextp

XYJIXK aB4 erdy. 3 HerTp 3H YYPMYLTOH yMLUTXa MK
erB. Keny nertp xeByHn y/i1B?

383. 844 8:L8 915 1T
846 A 9-+3 13225
843 849 949 17+ 3
8:L5 8+6 Gel 7 5ok 14
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384. 10 Goamrap 7 meep Kemyr HeMX Keprra?

385. 5—3 7=3 a3 1o 7-3-16
88 G2 Ll T8

386. DuukH KYYKIMH Haaar raspt 7 Msa4 Owui.
Jlakan meepHb O Msiu XYJK aBy. IAH Kely MAUTI
60a1B? '

00000 00
0000

7T4+5=
7+-3=10
104-2=12

387. Ik |math—repouHb/ 7 KeBy GOJIH O KYYK
ockx raphB. ¥YT—TyplitaH 2k Kemy KYYKH 099xK?
388. TaER 715
Ll 749

389. ['yH Topik 7 apciH KYpH9, Xop TOPJIK Tyy-
Hoc 3 apcaH kuMi. Xap TIPAK Keny KypHa? [yH
OOJH X9p TOpJK' XaMIaH Kexy KYpHo?

390. Dx KYYKATOH JIOTO GOJH LIATP XYJMK aBy
ors. JIoTo 7 apcaH kypy, warp jgorohac 1 apean kuma.
Llatp xeOy KypB? XOHp Haa[ir 1OMH XaMiaH Keqy
KYpPB?

6 ApudmerHka 8 l



391. 915
919
9-1-4
97

392.

814
87
815
8--9

s

-+

ENIESIEN |
© BN

«© o

6
7

17—4
18—6
19—5-
20—3

393. 10 Gonmrap-6 meep sMapad TO HeMXM?
10 Gosarap 5 neep Kemyr HeMxm?

394. 6
8

395.

1

—4
—4

64+5=
644=
0+ 1=

7—4
9—4

10

6--8

6415 e el

6443 Bal-5-1-4
O-+7= 517
0+5=10 5-1-9
1042=12 548

396. Tans axrahan cas yhas. Tans 6 topux yhas,
axHb XOHp Topak Gahap yhas.

DIH xamiaH Kexy Topak yhas?

397. Jluna skmen Gemr TYAXH OeH Goxas. Jluna
Typysaa 6 mox aBu MpB, AaKal TYYHISH OPXHb 1 MOn

Oahap aBu wups.

YT—TyplitaH Keiy MOJL 3H aBU MPXK?

398. 6-1-6
il
gl
9--9

Bl
5--9
6-1-7
815

1
1
3415
7813

G
4-1- 6

18—6
17—4
19—7
20—3

369. 10 Gonnrap 4 neep KeIYT HEMX Keprra?
10 Gosgrap 3 neep KEAYT HEMX Keprra?



400. 8—6 817 44641 4-1=6F9
9—6 10—7 44643 3170
401, 44-7= 3--8=
4+6=10 3+7=10
10+ 1=11 10+ 1=1

4092 Ao s AR AN s e R T
LR I s o L S e :

403. Llkosan opxun emu Ausg 4 myar mepar 6uma.
Ilkonn 30 8 wyar pacB. YT—TyplutaH AHs Keny
wyar menar OoJB?

404. Her xopoGkn 3 nepo OWJ9, HaaTk KOPOOKI
TYYHOC O mepo yJay. Ouma. Xo#p KOpoOKI Xam[iHb
Keay mepo Ouia?

405. Axup énx keepysaxap 4 waagha Kex, ny
KYYKHb axacH 3 Haagha yayhop kex.

Keny naamha apH XampaaH Kex?

406. Enx geep 3 Hohax sammouk waTKana, yJiad
namMnodK 0OJIXJaa TYYHSC 6-Hn yayhap mamxkana.

YT-TypluTaH €1K Jeep Kely JaMIOYK IaTKajaa?

407. 10—749 6493 5-+7—10
7—3-8 7-++8--4 6-+7— 2
10—3-+9 4479 8§+9— 5
9—4-1-8 397 94+9— 6

408. 5 7 8 i

34| 9 =240
12 &80 49




409. Typsagap 18 xypTa TOOATH.

Jepsamap 20 KypPT/I TOOJTH.

410. Kyykn LIOBYAT XOT OrAT TIBL KeB. ToBLYD
Typynea 7 Gorumypha, nakan meepHb TyyHac o Gor-
wypha yayhap HucK HpB.

YT-TypllTaH Keay LIOBYH HUCK WpPB?

41l. Tanman TO OpyJan, ©MHKJI M1 3CB OYPASTH.

Tepyron KeTH.

412. 3-+44-9 [8—4=—3 LRy
10—4-+8 1959 s
O SRl 20—=8=16 AR s

ApeHac jpaBan xacJahm.

413. 10 Goanrap 1l-sc xenyr xacx keprra?

11—1—7

414, 7—1 11—1—1 11—1-2
11—1—5

5—1 11—1—3 11—1—4

415. [Mapr neep 1 apeu Moz Goax 1Mo ToBTH. TenHacH
2-ur aBaj kopoOkn ToBTH. [lapT neep kexy MOaH yaaB?

416. Llortk meep 11 mMoxm xaiiTH. 2 MOJA X9PYJITH.
[lapt neep xexy MOIH YJIB?
11—-2=

00000 |Z G
00 S
200ey 01— 9
4171 —3 i el Tl —
-5 1926 11—6

418, Tapu KeIMIUMH ypokn mexypH 11 xoou
cyphyabuHpPT €rx 3eBTo. O X994 5H OruKB.
Jlakan 9H KeLy X994 erx?

84



419. Hexypu 11  3ycHa wxucroux cyphyabynpt
OrxX 3eBTd. 7 KHCTOUK 3H OrYKB.
CypBp ToB3L, 3CB KETH.

490, 11—3 11—4 11—9 12—2—3
11—5 11—6 11—7 12—2—6
11—2 11—38 11—5 12—2—4

421, 10 Goamrap 12-ac kemyr Xacx 3eBTo?

422,

e R0 129 pSeia s or
‘5 g 72 oo, R iy

423. Barmn 12 kapangaw 6uima. 3ypahua ypoxn
KYVKAT 4 KapaHaaul ers.
Barmn xeny kapangain yags?

0oo0O0g il
2 10—2= 8
424, 12—3 19)—5 10T

12—6 12—8 12—9

425, KeByn 12 kapach 3ahc Gopx aBu. Temmac
3-Hb WK, HAaTKCHb— OMUKH.

Keﬂy OvukH Kapach 3ahc keByH GopM¢ aBu?

426. Xosy yiahxa kpywoxn ikoa 12 moxrta yvuu
Genmk. Tyywac 6 mahan moxra yuud, HaaTkCHL—
Xap YULH.

Keny xap moxra yuud 6oax?



427. Xosu yithaa xpyxoxn 12 ayn 6ums. By-
IyH 3yHb Goaxia O 039K, HAATKCHb HAPXH.
Keny HopxH 3yH 699xX?

428. 12—4 =5 e 136
18—6 7 lIEg [oE 7
g 29 [ 174
193 1223 =9 06

429. 10 6oamrap 13-ac xenyr xacx Keprro?

430. B ay e | R T S N
= 0 lg gt al Sviiae—tal v
Bl SRS S e
ocooodg =
431 8 1R3=16 13—5 IBEE7
58 18- 1329

432. llixomu sicBpr 13 yT OGaxu OennB, axpxh
OaxHuHb Gosxaa o-Hu Oahap.

Keny axpxu GaxH Oennx?

433. Bew kenr yuac TypyH exp 4 Oelw, Xo#pary
oap 5 Oew keB. DoH yT-TypluTtan 13 Oewl Kex 3eBTa.

Haxan xeny Gewr kex?

434, 13—5 =5 4=l 7 1315
Ty 1—8 5elg 18—3
1829 12—8 Qelc7 907
136 7 349 20—9
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435.

436.

437.

438.

439.

O (nomw) Goarar rypeagap 18-ac xacTh.
0 (nomb) Goara tapazap 20-ac XacTH.

10 yamarap 14-oc smapaH TO Xacx Keprra?
DS E6 14—4—2 14—4-5

9 7 107* 14—4—3 1444
14—5= 15—7=

14—-4=10 15—5=10

10—-1= 9 10—2= 8

14—6 47 15—6 15 =7
14—8 14—9 15—9 15—8

440. ©napop apr meepac 14 xyykm mounkana, ac-
Xap tennny opxHb 6 kyH Gahap nows. Kepy kyyia
acxap JOILIB?

441,

KeByn 4 acadrap mup Goan 3 apciHrap

3ypr 3ypar ams00M XyJmk aBy. XyJL KeXMH ©MH
keByHA 15 apcan Oumd. Xyan KecHd XOeH KOBYH[
Kely MOHIH YJIB?

442, Kyyxna 14 apcan 6uie. DH 5 apesHrap JeHT
OomH 3 apcaHrap yuu XyJjmK asu.

Xyn KeCHd XOOH KYYKHI Keiy MOHTH YJIB?

443, 145 C s m ] gl e SER AR
1481 o5 5 PR oL LGRS R R s
142567 510N - o e s SIS
14—9'* “ipg " Mo dei g aitg L oty

444, 10 Gonmrap 16-ac xemyr aBx Keprra?

10 Gonmrap 17-ac keny aBX Keprra?
10 Gonmrap 18-ac xemy aBx Keprro?
87



445. 16—8— 16—7 . 17—8= . ~17—9
P lse . 7710, 178
R R 01— 18

446, Jlbnkap mounk £oBx 16 xyyuac 7 kyHb apn
VAIB. OMHHb K9y KYH JbDKAP JIOUDK HOBHA?

447, 16 xamp apufr anbuyp WJABPAX 3eBTI. baas
9 anpuyp WIBPAB, HAaTKCHMHb HuHa WIABpIB.

CypBp ToBoMI, 3CB KETH.

448. Cauwa ...... CTPOKTA LIYJAT JaCX 3OBT9.

8 crpox aH gmacxk opkB. Kemy macx cTpok yias?

Hemon, scB keTH.

449.13}3—8 13—8-19 2261 12
l22tts=tg 16—7--5 10— 8-L15
4 ar g 15236 5= g LT
[&9=—8 17=294153 13—8-14
450, 145 20—6 Bnlars
20—8 1828 15— 4
il 649 163
449 118 3415

451, Uxpyarw: 10-ur 3-n; 14-ur 4-upg; 13-ur 7-un.
bahpyaru: 15-ur 2-1; 16-r 7-nx1; 1l-ur 3-up;
16-r 8-H.

452. Kyykn uacap yya xeB. [puma 12 was uac,
WMpa IMpuwac 5 uan Gahap aBu ups. Dux yT-Typui-
TaH Kely LiaH Lac aB4Y HMPB?

453. Llacap xecH yya ycap acxal MeCTIXap
KYYKIL Typyaen 7 cyyah yc aBu upB, hakal TYYHSC
2 cyyah Gahap aBu wups.

DmH yr-typiutaH Kexy cyyah yc aBu ups?

88



454, Kyykn uacap wmBImox Haauana. Her 6uitinb
9 kyH, HaaTK OWimHb TemHac 2 KyH yay Ooas. YT-
TypLITaH Kely KYYKI Haauana?

455. Tap KeWIMIIKH YPOKI Laac XyJmK aBy: 6
JUCT HOhaH U@acH [eepHb TYYHIC—3 JIHUCT HKap
yJaaH 1aac aBy. YT-TYpLUTaH Kefy JMCT Laac XyJamK
aBy?

456, 87 1G] ) =7

1528 hE sty 16—6—9

449 14259 gLty

e 183 D= 48
KUJAOTPAMM.

457. 1 xuiorpamm Goxuur, 1 kwiorpamm amnc
LY Y XJITH.

458.

OnMr KeLy [yiip xeny
KWJIOTPaMM TaTHa? KUJIOTPaMM TaTHa?

459, 2 kunorpamm GomHur, 3 KuJIOrpamMm OOLHUT
LY Y HJITH.

y, Kujgorpamm ruar yrur
axpap MuUr¥ OHYAMH: K2

460. Kyykn 4 kr mopxos 6oaH 6 kr XaBeT XyamK
aBu. YT-TypIUTaH Kely KWJOTPaMM TeMC XyJ/AX aBu?
89



461. Baspac 3 kr GogHur 6ojH 2 KT MOPKOB aBy
npxa Mwuma 22:k1sH neH GoJB.

CypBp T9BaI, 3CB KETH.

462. baas 1l kr xaBct Xyamk aBu. Baa 7 kr aBy
¥pB, HaaTkuhb Bans aBu wpe. Bans xeny kr xascT
aBuY MPB?

463. Tlaxad xuur 16 kr Ttarar G6unae. JlosaH XOH-
TUH XOOPHI 3H KYHIIOH 2 KI' HEMX.

["axan kuur keny kr Tatar GOMmK?

464. Her raxad xumur 8 Kr TaTHA, HAaTK KWUTHb
TYPYHKSCH 2 Kr KyHA. XOHp raxad KMur XamHaH Ke-
LY TaTHa?

465. 10 xr meep 9 Kr Hemx 3CB GYPAITH.

14 xunorpammac 10 kr Xopy/ax acB OYPHITH.

466.

719 186 Aty [=6
12-4-5 I7—4 5--9 15—9
163 = gy =3
1119 905= 3 810 16—9

Xoiip Temarte 1o xacJahu.

467. 14—10—2 I8 === 9= 10—24
I5e 1023 16—10—=3 17106

468. 14 wmon TeBTH. TyyHac 12 mom xXopysrH.
Keny momn yans?

469. Lotk meep 13 sic TeBTH. 11 ¢ Xxapy.TH.
Keny sicu yuans?

470. Kopo6kn 15 kapanzaw 6uis. Tyyrac 12 kapan-
maw aBy. KopoOkm Kely Kapanjail Y/IB?

15—12=
156—10=5
o— 2=3

90



471, 18—12 13—11 15—11 18—15
16— 14 172515 132217 17— 14
16—12 19— 14 19—13 19—12
472. Banhcun 18 rep 6apx 3eBTo Guaa. Tyyhac
16 rep Gopxc. [axan kemy rep Gopx?

473. 15—13 16—12 lo=E5 16E1 5
14— 18— 14 17 —12 614
19 19—16 15—14 e ]
ke o 1611 19—17 AR

474. 18—16 18—18 19—16 15
= 712 16-=13 [ a
16 —12 5= 181 [9==5d

475. Cyphyabun 16 npumep kexur naaihcH 099:x.
O 12 mpumep kex. Kemy npumep sH 1aKan Kex?

476. 2 enpun TypuiTaH KeBYH 16 xanxra mertp
ymwB. Typys emp 11 xanx aH yMIUB, XOHPArY epi-
THb — HAaTKCHHb.

Xo#pary eapThp Kefly XaaX yMLIB?

477. 18-ac 14 xacar acB OYPISTH.

478, 18—12 18—13 4414 1823
19—17 = 17—12 18—14 e 5
17—13 19—16 5411 =5
18—11 17—14 1611 19

479. Jlapéxn rom 3ypar 20 KMCTOYK 6;4{13, Ten-
Hoc 12 kucrouk xysmk. Kexy KMCTOUK YJIIB?

o0 112j==

20—10=10

10 2= 8
480. 20—11 20— 14 20—13 20—17
2015 20—18 20—16 20—18

481. Her axBapuyma 20 3ahcH OWJI9, HAATKAHL

TyyHac 11 3ahcu Gahap Owie. ;
Haark axBapuymn xeny zahcH 099XK:
9]



482. Kyykn uahan wnaacHac 20 koHBepT, yiaH

naacHac 6osxaa 15 xousept Gahap kex. Kyykm keny
y/laH KOHBEPT Kex?

483. ®eppans capr 20 uuarp emp 60JB, TYYHIC
12 enp 6ahap Oypxr exp 6ous.
®eBpanb capn keny Oypxr eap GomK?

484, 20—11 712 2016 6-1-13
20—18 1815 19—16 )
90117 19—13 20—13 20 =
20—19 20—14 19—17 14— 9

485. 1642018745190

—14
TS Lo e 1

486. 20 auct Hohan waac GOJH yuaaH Daacur
Hohanac 14 muct Gahap XyJamx aBy. DH aCB Her
YYJLIBPIp KErmarap CypBp TOBTH.

487. KesyH typyman 10 mox, naxam meepus 4 moxn
30pK aB4. YT-Typiutad aH 20 MOX 30pXkK aBX 3OBT9.
Keny monm maxan 30pixK aBx?

488. OMHK 3CBII 31 3cB OYpasTH. TyyroH KeTH.

489, Cyphyap cypxn Kepririaf XoHp KopoOk
IIACTHAMH XYJUK aBd. Her xopobkn 7 xycr 699K,
HaaTKIHb-0ac Tely 09ax. Kyykar 13 xycr xoBax
ery.

Keny xycr macTWIMH YJLK?

490. 12-- 6 19— 14 G 18=—4—6
612 2013926 T
18— 6 17 1113 APEiLl i

18§—12 20—17+4-15 20—6—5



JUTP.

,ﬁ "’"‘“ﬂ"ﬂlﬂ?
/ [

491, Jlutps KPYXKKI Kely CTaKaH YCH OPIrHHb
X9JIOTH.
492. Bankn 1 jmrp, 2 Jutp, 3 JUTP yC KeTH,

»JIUTP® ruar yrur axpap
HUMK OUYIMH: A2

493. Konxoauuu ykpac 16 o yc, fMaHac 60nxa
2 1 yc caax aBy. YT-TyputaH Kemny JHTD yc sy
caax aBy?

494, aw 11 1 yc apu upaa. TYYHIC 2 1 ye acxu
XOT JleepoH YYLXaB, HaaTk ycap?m) 993r9 Kex.

JUTD YCIp 223r9 KExK:

ffgg}’ Kongos\sﬁnﬁ Her GumoHA 12 J1 YC KEX, Haark
Ounonun 4 11 Gahap kex. Kemny autp YC XOMp OMIOH
Kex?

93



496. Her OumoHn 7 1 KepocwH, HAaTK OWIOHI
TyyHac 3 a1 Gahap 69ax. XoHp OMEOHA Kedy JWTP

KepPOCHH 09xK?

AABTIThH.

497. 12+ 5 [R==Na 153
6114 DOES(D) 315
5al g 16— 9 s 3
4977 15T 18—15

I3

7o
opEy
913

498. 12 Goanrap 10 meep simapaH TO HEMX KEpPrTI?

499, 6-L...=12
R =l

AL
lopta i

500. [leecur 2 OHr KeX: Her
HaaTKaHb—6 M. YImMapaH yT neecH 699xk?

501. Inowans neep 8 merxoBoi GouH 4
MaluH 3orck 09a9k. 10 maimmH HOBXK OnB.
[Tnowans meep xeny MalldH YJIB?

502. 8 keByH GoMH 3 KyyKkH Lac

84...=18
T4...=12

QHIIHb — 7 M,

rpy30BOil

mMohJiraan

Haayansa. TemHac TaBMHb TepYpHb OyyIal aBUKB.

Keny xyH Haaman yans?

6503. 3yphan kyykn naHap Haayasia. XOHPHb XapK

OJIB, TaBH KYH XOOHHb [€epPHb MpX HaalB.
Keny xyyxn naanr Gosis?

504, 8--...=12 TEE g At
95— 15+...=18 3+4..
7Th...=12 {5 G Bl

94



505. To omx aeahx. “Bu 6 neep To Hem9B, alHb
11 GosB. $IMapaH TO HOMAI HEMCHHb OJIK aBTH?“~I'MiK
cyphy./ipu KeJs.

Tagx 6Gac TMMM Haal HaaiTH.

506. Awnp 11 Gosnxap 2 neep sfMapaH TO HeMX
Keprra?

P R 2=
ol s A4=12 by i

508. Xoiip Topakn 17 uu Gui. Tenno HerH neepHs
8 un Goas. Haark Topia Kemy 4 G39%?

509. Cosxoa Mockpahyp albMTa OosH keamTa 18
rpy30BuK [0BY./B. AJpM a4CHb 9 rpysoBuK Oni. Keny

IPY30BUK KeAMTd HOBXK.

510. ...+ 4=12 L 43=11 L12—=13
e -5=20 B 6= = 1D=17
...6=18 4= 12 ... +16=20

oll. Awmp 15 Goaxap HemahHd TIPUMEPMYL Gy p-
I9TH.

512. T'ypsagap 18 kypra1 TOOITH:
3yphagap 18 xypran TOOITH:

18 M [OUB, XOHpAan Goaxia
y METPT Li@H [OLiB?

95

513. Toas spr neep
. Typymon tyyse wuaH
2 M xoan gows. Xopiprai KeA



514. Kyykn ron neep wum Mec apus: 19 M yTaas,
@prugeH yracH 2 m Gah. fImapan epru mec 21H apus?

515. Axup 11 merTprs, Iy KYYK9 HErTpMynHb 2-T
Gah. DcB Her YYJaIBPap KErLArap, CYPBP TOBTH.
DCB XOMP YYJUBPIP KETIATSP, CYPBP TOBTH.

516. Hunno xonxos 8 mayr, smxs TyyHoc 4 mayr
MKap XyJmK aBd. XOHD KM yT-TyPLITAH KLy MUyT
XyJ0XK aBy?

517. Humno Komxo3uH raspT 8 TPAKTOP KOMIK;
SHMU HUIHOC 3 TpakTop K9P KemwiB. Keny Tpakrop
SHXKJ KOMLJIB?

518. 12—4-18 161257 20 —13--9
16—9--6 18119 20 —11-1-6
192 Ly [l =3 20—151-8
18- joEE g 20 —18159

619. Xowagap 20 KkypTai TOOJTH.
Hepsanap 20 KypTa TOOMTH.
I'ypBagap 18 xypra TOONTH.

9



Xoasahd.

2-ur xoJsiahH,

520. Xomagap 20 KypT1 TOOMTH:
Qe a6

@’%@@ 24+24+242+42= 2%5

521. Kopaunac xomagap eHar 3 IOKXK aBu. Y1-
TYPLITAH K1y OHAr aBy?

522, Llwkp TeBAr caBac Xowam Xycr LIMKP S
IOKX aBU. ¥YT-TypIUTaH Key Xycr LIKKP aBy?

523802 <2 2548 2% 4 2% 5

R AR B & o

+2+2+2+2+2- 2x 6=

0 88 65 0 b o

9L Dn o DU ol Lo Ch oo




24+2424+242424+242= 2x8=

2x9=

-
5
‘o)

Z 2o

53 R &R R R

2—L2¢2+2—|—2+2—LQ—LQ+2J~2":2><10=

{2><2 2%x5 P)5e 8{
2%3 2% 6 2% 9
2%x4 2x7 2%x10

524. Bana capahac Tyax mox xomagap 6 1ok

aB4 MpB. YT-TypLITaH Kely MOA 3H aB4 WMPB?

525. llacap KecH yyaur ycap acxail KOPraxop ]

Kyykn xomag cyyah yc 8 mokk aBu Mpuxas. Yt-
TypiiTaH keny cyyah yc 31H aBy upuXaB?

526. MecH neep KYYKI Xollafap HouDKana. Yt-

Typwitas 7 map Oomk jows. MecH nmeep Kkeny
KYYKI JOLUB?

98

527. 2549 9b4 85 oML T—=5
25247 2% 9—4 2% 8—8

2X 446 OG3 9% 9—9
2% 349 25 10—17 Il s
528. 2 645 25693 206 4211
2% 8—3 2X4--5 Vi 9__13
SIsc T—F 9:¢d 19 2 B 15

2% 10—4 D S0T-=6 9% 10—17



529, Mau 2 apciH KypHa. BuukH Kyykmud capt
O TMMM MsY Xyamx aBd. Keny meHr eru?

P y
S
&

3

CJIH 2 apciay 2 apcn}{

. g’
2 apcan 2 apcay, 2 ap

530. Msy 2 apcaH KypHo. 7 THAM MsY KENy KYPH9?

531. Lloohun yxp 2 apci KypHa. 4 ThuM yxp
Kelny Kypx?

532, Dok 3 meehuH yXp XOWIAL apeaHrap XyJmK
aBan, kacen 10 apean ers. Keny MOHI 9H XapyJnK aBCH?

533. Enx cooxpynxep Bepa 8 Haazmha xowan
apcaHrap XyJmK aaf, KacCh 20 apcanr ere. Keny

MOHI XJpYJ/K aBCH?

934, 27+ 3 2% 6—5 2X 9—13
2% 8 4 2x9—9 D3¢ B==1l
2°G3 =9 2X8—7 2X 7—10
2X4-F11 92X 7—6 2xX10—14

3-yr xousJhH.

535. rypBaﬂap 18 xypta TOOJTH.

S 1Y
OOO OOO’
@)
5o ooo o0
3X3_=

3 o 3
99



3E 9 .8 8= 3x4=
@

OOO OOO OOO OO OOO

3 +3 +3+ 3+ 3 = gx5=

‘-;'?.x?. 3xd 34 8¢hH 36

536, Typu vonap rypsmk OypasTH. 6 tunm rypeimi
OypmatH. 6 TypBMIKHI KELy MOIH OpX?

537. Croaux €ep 5 KYYKI CyyX. OpyH XoTn KyH
Goshun 1 crakan yc eru. JlepBH KyYKHI Keny craxaH
yc erx?

588. Kyyxn maraar packana. Ky 6onhun nexan
3yH Keprro. [lepBH KYYKHI Kely 3yH Keprta 6oJsx?

539. Buuxun xeprt cyphyasu OGonhug 1 pyuk
Keprro.

[ypeH cyphyapum Kemy pydyk Keputd 60Jx?

840, 1x2 13 1x4 1X5 16
2X2 223 2x4 2% 5 2% 6

3X 2 3X3 3X 4 3X5 3 X6
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541, 2Du 3yprap Xofip 3cB GYpHOTH.

542. Kupar Goahuzx 3 ToBY xanx 3eBTd. 4 THHUM
KUWJITT KeIy TOBY XaiATaX?

543. 34— 6 3X6—4 Dagd D
X913 3x5—3 DiEs= "5
3¢ BHL 9 Xi9E 5 3idibeiiia

544, ,MaHa WOBYn“ rUAr anL00M KeXuH TOJd
6 keByH Xowan sypr Goa 5 KyykH rypsaj aBy MpB.

Keny 3ypr keBynm aBu upp? ‘—L—
Keny sypr xyykn aBu ups? b=
045, 3% 245 3%248 2%T7—6 i
3X4—6 3X3+9  2X6.T |
3X6—9 3X5—7 25318 =
546. Her 3eprionn keny etk GogHa? B

Keny seprson 6aoHa? Y1-Typlirtau KeLy KJEeTK 69oHI?
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547, Y1-TypuiTaH Keiy NEHIUT O39HJ?

548. Vpa rypBag HeHIIrd O KOHBEPT XYJIK aBu.
Keny menr sH ercH?

549. Kepyn 3 nmenwmira 4 KOHBEPT XVJILXK aBap,
kaccn 20 peHmur erB. DH KeLy MOHT Xapy/mK aBX
30BTY?

550. Baa 6 xr anbM KMIOTpaMMHHB 3 apcJHrap
xyamk asag xaccn 20 apcaH ers.

YyHI KeLy MOHT XJ[yMX erx 3eBTo?

551. Kapannauiap 6 seprioni ket 3ypTH, 3epriox
6onhun 3 KaeTK.

Tooath: Keny KJIeTK 2 3epriaHi 693HI? 3 3eprioHy?
4 azeprasHn? S 3epridHi? 6 sepraoui?

552. 3x5—12 B ded—ug 2% 8—5
9611 S 3X6—9
3X6—14 9561015 a5

4-yr xonsJjhH.

553. 20 KypTa NOPBILSP TOOJTH.

4 8L e
O@-00
Q0 OO0
4 L 4 = 4x2=
@O0 OO0
@6 GO OO
4+ 44.4-= 4x3=
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Q0 00 001
00 0@ e @6

4L AR S 4x4=

00 @0 00,00 GO
00 00 @ONO@ @@
4

40 e = 4x5=

4%2 4x8 4x4 4x5}

554. 4 mopmap nepsmx OYpASTH.

Monap 3 tuum pepsmk OypmetH. Keny I!I
MOJH OPB? 5 THUM JOPB/KHA Kely MOAH OpX?

555. AHruy xofip meKX [HOPBIA ILIOBY aBY KpB
YT-TypuITaH Key LIOBY 3H aBd MPB?

556. Duknp xyykareH 4-91 apeaHra ‘3 Oner
TeaTpT XyJIK aBy ers. Kepy MOHT 2K raphs?

657, Hepemx sypra: 4 3epryoHi, S€PrioH Goathy
4 xnetk Goomrop. ToourH: 2 3€prIRHL KELY KieTk
699H9? 3 3eprioun? 4 3eprioHA?

558. 1% 2 1%3 14 1X5
2% 2 2%3 2 x4 2X5
3% 2 3% 3 3o 80
4%2 4%3 44 4X5

559. Bu To canuks. $lmapaH TO CAHCHHbL Memx
aBXMH TOJId, NOPBMr 5 AKX aBTH, alluH toohac 2 xo-

DYATH; THHMK/JI® MHHM caHCH TO OJDK aBXT.
103



560. Astomo6uib 4 TOraTa.
['ypBH THUM aBTOMOOMIb KeLy TOrata 00Jx?

561. Bosonst ypokn 3 cronbuk mpumepmyn Kes,
cronbux Gorhun 4 npumep.

Baca Oonxina 2 npumep nkap keB. Bacs keny npumep
KEX?

IH 3CBJIR AU 3CB 3BPI KJACCHH TyCKap OYPLSTH.

562. LlkoanH ,omn OyaHra“ rypeH OGaukn 4-o1
sahicn Gank Oonhup 639X, akBapuymn Gosxaa 6 zahch
Goo. ,oMA OyaHra“ yT-TypuitaH keny 3ahcH 6oax?

563. OmHK 3cBId 91 3CB GYPIITH.

564. 4329 33—9 4SR5 =18
4% 5—4 O R o 8E-18
4%x4—5 25 6—h SIS
3x6—3 3%4—9 95 N0—17

565. 1% 9 44 1X6 3% 2
2% 10 9T 3x4 4x1
3% 5 4%5 2% 9 2% 6
2% 8 44 4%3 1% 4

666. Her Gyuwvynr 4 M a1 opHa.
[ypBH Tuum OYLIMYLT KELy MeTp 21 OpX?

567. Xysu yiau 4 mambto yiiB. [Manbro Goshwp
3 M 31 ops. Llyr mamsbrocn xemy meTp 31 opB?

868. 4214 2X8—4 2X9—11

4443 3X4—8 4X5—13
4X3-+5 2X6—T7 3X6—14
2X 746 2X7—8 3X5—12

969. Baas 2 6ywmyn Gonn 1 nepenHuk yidb.
Bywmyn 6onhua 4 m ax opHa, nepenvk 60ahHI —
M. Bymmyn Gonn mnepemiHMK XOHPT XaMIHb Keay
METp 31 OpB?
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570. BaaB 5 kuwir 6oax 1 6ywmvysn yis. Kunar
Gonhung 3 M a1 opua, Oymmwyn 6orhun—4 .
Byumyn 60MH KMHATYAT yT-TypLITaH Kelxy MeTp 31
OpB?

5-ur xoasihH.

571. TaBamap 20 kypTa1 TOOMTH:

S 0
545+5= B5x8—

S, 51 54515=5x4=

5x2 5x3 5x4

572. YT-Typwran Kefy ACHLIT G639HI?

/’/5?\%‘

LONEE
1933

573. Knaccn 3 Teps GoooH. Teps 6oahHI enrary

5 Oyhui Goama. Kaccn wyr Tep3myA ACEPHDL Lienrars
keqy Oyhin GasHo?
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574. FOpan mapkc 6uia. DH NOPBH YYPMYATOH
taBaj Mapk KyH 6oahug ers. KOpa yypmynreH yT-TypLu-
TaH Kely MapK ers?

575. Kyyxn 3y XyamK aBcHiadH S-ap geHirs 4
IaaJabc ers, TOBY aBCcHAaH Gosixaa 2 meHwr G6ahap ers.
ToBuc xemy xyps?

576. Bacs Gonn Muia keruiH 93¥%ieH capahac
MO aBu upB. Baca 2 moxk S-am mox aBu ups, Mu-
mwa Gonxna Bacsm opxHb yT-TypliTaH 3 MOL HKIp
aBy upB. Muiia keny MOL aBy HpB?

877. 2% 2 2% 3 2% 4 3% 4
3X2 3<'3 3X4 55X 3
4% 2 4% 3 4% 4 289
5% 2 5% 3 5% 4 2% 6
578. Heraru cronbuxp awmb 9 Goanr mpumep
OMK aB; Xoupard cronbuxn auHb 20 GOJAT; TypBATY
CTOIOMKA — aliHb 16 GolAr oMk aB.

53 3x4 2% 7
2X%6 2% 8 3X6
3% 3 4%2 5% 2
2%9 5 4 4% 4

579. I'yiip keny KuaorpamMm TaTKaHa?

580, JlaBkn Her KyyHI 2 @I9KX 5-ai KI XaBCT
AYYX/DK erd, nakaj leepHb 2 Kr erd. Y T-TypLiTaH
Ke1Y KWJIOrpaMM XaBCT 3H KYYHJI ery?
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681, Tanman TO oOpynan, OMHK 3CBIS 9] 3CB
OYPAITH.

582, Taxacn 3 moxX S-af Kr 3apM XYJIIK aBy,
naxan 4 Kr XyJADX aBy. Y T-TypLITaH Kely KHJIOTpavy
3apM XyJIK aBy?

583. 5x21-7 3X3+9 Spgd-F b
5% 32 Oty IX6-- 5
43414 1 X516 st
3x4-+3 3% 248 1X6+13

6-ar xosBialiH.

584. 3yphanap 18 xypra Toonts: 6 12 ...

616= 6x2=

646+6= 6X3=

585. Henenbn 6 xenmar enp 699H2- :
Keny xeminr enp 2 Hepenbl Goox? O HENEIbI:

586, 6x2—2 4%4_9 2x¢3kld
6 3—3 X5k o
X047 e aies At
6XB=3"" Tosigilyst L ORSe
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587. 3x3 S|

3% 6 BRI
5% 2 Boesean
5 4 5X3—12

6 6uukn xapha ops. LlloByna
3 rep Kexn Kexy TWMM xapha
opx?

689. Lllkonn 3 Gewr 69aHa. Bewr Goshur yBIMH
LyycH TyJaxa 6-an TeprH MoAH Keprta 6oaua. 20 TeprH
mon Oenmx. Lllkomm OeamcH TYJaSH YBIL KypXHid?

590. Xycrt 16 M an Goox. TyyHac 2 mowxk 6-an
M X99WDK aBU. XYCIT KLYy M 31 YJIAB?

6 apcan 4 apean 3 apcan

591. Du 3yprap rypsH 3cB OYpIITH.

592. Baap 4-on apcanra 3 cepa GoaH 3 apcaHra
HEr yTX XYJMK aB4. DH XyJNL Kely MOHIH OpCH?

593. 6-an apcanra 2 yxp Goan 4 apcaHra ceps
XyJIX aBy. DH aBCH XYJI Kely MOHT KypB?

594, 2 6—4 B —s B e—12
6x3—2 2xX6—9 5% 4—14
3xX6—7 3X5—6 a9 —13

2Xx8—3 4540 2% 10—18
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7, 8, 9, 6oan 10-ur xoasahx.

595. Keny 6oux:

2 nmekX 7 (momam) MOIH?
2 maK 8 (Ho9oMa) MOMH?
2 mmk 9 (Amconm) MoOIH?
2 nmoxxk 10 (apeam) MmomH?

7%2  9x2 |
8x2 10 x 2

596. Henenbn 7 enp Goono. Xoilp Hemeabl kemy
onp 699x?

597. YKPMYI caaykal KOJXO3HHL, YCHHb XOHp Gu-
JOHL S-o1 autp 6oaH rypBard 640044 4 JMTP Kex.
Keny Jutp YC 2H caaX aBu?

598. OMHK 3CBI3 911 3CB OYPASTH; OYDAICH 3CBTH
MMH KerjaX 3eBTa:

) 9 ax2=18 a
2) 18 a+2 1=20 n

599. Xoip apurt 8-px kr 6anra OWId, TypBary
spulrT—3 K& 099X. YT-TypluTan Keay KWiIorpamy
GaJdta TypBH APWIT GaaK?

600. Kapannamap 2 seprioH KIeTK 3yPTH, 3epr-
mon OoshHm 7 kaetk Goagrap. XoHp 3€PrJIdH[ Kely
kaeTK 099H9, TOOJITH.

601. 6X3—> 6 x2:—8 9% 2—12
@@= 8Xx2—9 6X3—15
3X3-+4 Bisesl—7 1052217

10X2—7 4X4—5 8 xX2—13
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20 xyptai xonsahHa TaGJMLL
e — 2o — 4 S = § AN = 13
I = 2y o= o d= g 4% 3=12
1X 4=4 2K 4= 8 3X4=12 44 —16
i B=5 200 —110 3 a5 =15 4X5=20
616 2X 6=12 3X6=18
T — 20—l
I8 —13 2 @ 8l6
1X 9=9 2 =l
LSO =1l0 250 =20

B 2=—10" 63¢2—12 T2 — 14 9% 2—18
BX 3=15 6X3=18 8X%2—=16 10X2=—20
5% 4=20
LABTThH.

ISR 45¢3—12

35916 3 x4=12
602, 24 9547 2X9 3X5 4%5

4% 2 s 9% 2 5% 3 5 w4

603. Amnb 18 Goaar xoasihHa LEOKH NpUMep

OYpIoTH.

604. Smapan uahan mewrn GoaH mwaanabrygac 15

neHwr 6ypauo? 20 meHwur OypaHa?

605. Darm WKOJMH KYVKAT KAHON OpX

Ouner xymmk apy. Her Guner 2 apead kypwa. Llyr -
Ounery OGarw keny MeHr raphs? Heman, acB kerh.
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607. [epsH JerkoBoil Mawuhap 3-an KyH MallkH
Gonhun FoBx #HoBHa. CypBp TOBIJ, 2CB KETH.

608. 6 naup xowagap Hoxac TataTa, Hakai 1 Ho-
Xa OMHHbL TaTtaTa. Y T-TyplLUTaH Kejgy HOxa TaTara’

609. 2x4-+11 1X9--6 4%¢4—3
ISGT18 T 245 D5/ 96
A A 2% 319 e
3 -=3 6X2-1-6 ik )

610. Awnp 11 Gonnr, makan 12, 13, 14, 15 Tuuran
20 xypta GOJAr TpUMEP HOpaK MNpUMEPMYISC OMK
aBTH:

19==2 3% 5 63 25 1T 34
518 6--13 20—9 o 1) 28

611. Auru ner noxk 12 myhc, xofipman Oonxia
tyyHsc 3 nyhc Gahap aBu ups.

CypBp ToBaf, Her YyaaBpTahop keraar acB OYPAITH:
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612. AuryuHp Hermakx 7 Tyyaa, xofipaan GoJxia
TYYHI 2 Tyyaa Gahap aBu ups.

Cypep ToBoA, XOHMp yyamBprohop Kermar 2CB
Oy PHITH.

613. Jluza Ona xoilp 3BpOHHBL 3KI9H MapTuH
8-enpae warjgata anbuyp Oearss. Jlusa anbuyp neep
O wuenrs, Oas TyyHac 4 Leursa MK9p warjis. Anbuyp
feep yT-TypulTaH Keday LEeUra marmata 699x?

614. 2% 7—5 3X5—14 45518
3X4—8 T 9=13 8¢ 214
63 3—9 5% 3—11 419
dimiiy 10X 2—16 ) Vot

615, YunuypuH Her aah neepHb TYHIPUrTd AaBC
TOBX, HaaTK aah J[eepHb 9MJI TaTTXa THWIIA XOLIAL
KWJIOTpaMMuH 3 THUp GOJH 1 KMIOrpaMMUH THHP TOBXK.

TyHrpur naBcH Keoy TaTB?

616. YumnuypuH Heraah pmeepHp ryipra TYHCpUT
TOBX, HaaTKk aah meepHb 9. TaTTxa ruhex 9-an Ku-
JOTPaMMKH TMUP TOBX. TYHrpur ryilp kemy TaTB?

617. Tasu nuoHep KyHb Xowajn Haagha OWUKH
KYYVKIMH caiT Kex caHaTa Ouie; KexJapH nuoHep 6onhH
cancHacH 2 Haagha yay kex. [Tnonepmyn yr-TypuiTan
KeLy Haayma Kex?

618. 3yphan muoHep MOA TIPXdp 2 KI TOBPUL
uyhaax asxap cenn9; uyhmaxmapu nwonep 6onhn 1 kr
yayhep uyhaax. [noHepMyn Keay KHIOrpaM TOBPIT
YT-TypliTaH Lyhrax.?

619. 32+ 8 Gc 3oy 5% 4—13
28— 16 25¢10—14 8 X2+ 4
b7 o9 a1 191 6

BaL-<19 7oz g geinpang



XosaJhH.

2 oiM IMrA xoBaahH, .

620. 12 3X2 5% 2 7X2 9% 2
2% 2 4%2 62 82 10 X 2

621. Xoitp cyphy/pui 9/9p XOBaX OrTH:

2 rerpaib =
4 Terpanb 4:2=
6 terpanb 6:2—
8 Terpanb o —
10 terpagy  10:2=

622. Kepyn 8 KapaHzaulMr 2 KOPOOKI 919D Xo-
BaB. KopoGk Goshui Kely KapaHIaul TIBXK?

623. 8 Ganrar xoHp KYYKHI 9LJ9D XOBaX ery.
Kyyxa Gonhu xemy Gaara aBy?

624. 1«2 92x2 3x2 4x2 5% 2
200 4.2 6:2 8:2 10 : 2

625. 545 818 10—5 16— 8
616 94 9 12—6 ey
7y 104-10 14—7 20— 10

626. Xoiip cyphy.bul 2AJ9P XOBAX rTH:

12 kapanpaul 12:2=
14 kapanpaul 14:2 =
16 xapaxzpaLl 16:2 =
18 rerpanb 18:2 =
20 TeTpaib 20:2 =

2:2 6:2 10:2 14:2 18:2
4:2 8:2 12:2 16:2 20:2
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627. Maiua 12 anpmur 2 TOPJKI dMIAP XOBAX TOBK.
Topax Goahup Kexy anbM TIBCH?

628. Kyykn maspap 16 Tyynaa kex; TYyroH 2 ToBL
fieep P TIBIJ Xarcax.
TeBu Gomhup keny Tyyna TIOBXK?

629. 14 xr Temcur 2 KOP3UHKI 19D OBAX TOBNK.
Kopaun Goshup kemy Kr TemMc ToOBXK?

630. 2.

2 6:2 16: 2 8:2
8:2 10:2 20:2 16:2
4:9 14: 2 12:92 6:2
1222 182 18:2 12:2

631. 6:21 7 14:2-411 25690
128 2-110 1650819 445
18: 2411 2025 7 3b—8

632. Dawn 10 anpmu 699ma. Mk auman tyyHocH

4 anbM ery, VJIICH anbMUT XOHP OMUKH auHpTaH 9./19p
XOBax eru.

buukha au GoahH kemy anabm aBu?

633. Hang, Penss 6oax Koas ycap 8 onhi ToBxX.
Tyyuac 2 onhumus Hansg 1oBX, HaaTkcuus Pensa Koas
XOHP QISP TOBXK.

Keny onhy ®ens toBx, xeny ownhy Kouas Topx?

634. ITeran 18 mapx 69ax. buiinan 10 Mapxk y.imou-
K9JI, HAaTKCHHb XOHP YYPTOH QISP XOBaX eru.

[Terss yp Goahupg xely Mapk eru?
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635. 33 4:2 10 et et g &
4%4:2 16:2-L 9 a6-s
63482 6L 98 918519
4 x5:2 SEID SR 4 X5—17

636. 3x6:2 16 59558 Hied tig
23¢9 1259248 O
4x3:2 142919 3X4— 8
2X9:2 1859=111 6 X 3—15

3 omn aHrg xosaiahH.

637. 1x3 3x3 5x3 4+4+4
e g R

638. I'ypeu cyphysabun ofdp XOBaX OrTH:

3 Kkapaupaul 3:3
6 kapanmant 65D
9 Kapaupar 08
12 xapanpam 12:3
15 kapanpau 15:3
18 kapanparu 18 : 3
Ereee a0

639. 12 nepemk 3 omn 3eprdHI TOBTH. 3eprion
GonhHn keny nepemkH 60JB?

640. Mozna ypu yraaH 15
KeX KOpaJB. JHr Ooshu yTHaH

8+

M GaxXHUT 3 9IJ 9HT
mapaH 00JB?
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641. 1x3 3% 3 5% 3 6:3

3:3 9:3 15:3 12:3
20<8 4% 3 6<3 183
6:3 1) ge 18 : 3 15:3 |

643. KeByn Oynrra 17 kapanpam wurk canhs: ver
KOpOOKJ 2 KapaHgalll, HaaTKCHHb-IMI9P XOBaX 3 KO-
poOKn mypB.

Cyyark 3 xopoOkn kemyham Kapammau myp?

644. Mon ToapauHp uMM Xoilp Xapha MO T9JpB:
Hertb yTapH 20 M, HaaTKHb TYYHICH 8 M axp.

Axp xapha MomuHb 31H 3 91 QHT KEX TIIPK. JHT
Gonhu smapan yT GOX.1?

645. Tangan TO OpyJan, ©MHK 3CBJId LI ACB Oyp-
JI3TH.

646. 6:3-1-12 15:31-8 2% 8—5
12:3-14 18:3-+6 e 216
3:34.'9 12:319 5%3—9
9:3416 +9:348 457

647. Bu 10 cauyB. Tepyr omk aBxuH Tem, 9-ur
2-T XOMIBTH, alllMHb 3-HI XOBATH, LIMH TapCH TO [E€EPHb
6ac TMUM TO HEMTH, TEraj fIMapaH TO CAHCHI OJIK aBXT.
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648. 3 ann crakana tema 3 apcan ery. Her crakan
Keny Kypy?
649. 3 yxpun Teus 15 apcan ery. Yxp 6oahu keny
KYpH?
650. baaB kyyknten 2 omn Haagha XyJK asap,
Kaccx S5 apcaH Ooau 1 apeiH ers.
Haapha Gonhu xeny kyps?
651. DxHpb naBkac Mpahap Temc aBxy/k. Kpa 3 kr
TeMc XyJmK asag, kaccn 10 apcan 60aH 2 apeiH ere.
Her kunorpamm TemcH kemy Kypy?
652. 1x6:3 3432 228
2%X6:3 9%2:3 4x3— 9
1%X9:3 6X2:3 3X6—14
2%9:3 5% 4:2 4Xx5—13

4 3171 9HrI XOBAJITbH?

653. 14 i25a s 3hedss A4S TG Xl
654. 4 cyphyabun mepoc XOBa¥ OITH:

4 mepo 4 : 4=
8 mepo 8:4=
128nepo s T2 =
16 imepoit b =
20 mepoiet = 2034 =

4:4 8:4 12:4 16:4 20:4

€55. 2 4 3x4 44 5% 4
8:4 12 : 4 16 : 4 20 : 4

656. 16 xycm Momur 4 o 3€prid Kerai Cyyihx.

3epradn Goahun kexy xycm MOL cyyahi?

657. 20 xeenH uahan moa 4 941 3EPTID Keran
cyyahx.

3eprasu Goshun keny xeedH Lahad MOX cyyahu?
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658. 20 4 16:2 9:3 18:92
112,85 16 : 4 316355 16 : 4
12:4 20:2 14:2 12:3
193 20 : 4 18:3 20:4

659. Heraru crtonbukn amHp 5 GOMAT pUMEp OJIK
aBTH, XOMPATY CTOJAOUKI aliHb 6 60JIr, TYPBATY CTOMI-
Oukg—amHp 4 Gosar, NOPBATY CTOJOMI] — alliHb 7
OOMAr MpUMED O aBTH.

14:2 1983 8:4 12:4
(51257 20: 4 943 4:4
628 1989 a0 14:2
11052 16: 4 1teh 0 6} 115543

660. 12 pepemxur 2 oua 3eprid Kersai TOBTH.
3epraen Goshup xeny pepBmKH 6onB? 12 nepsmiur
4 omn 3eprimeHn TeBTH.. 3eprydH  GonhHn  xeny
LOPBIIKH.

661. 20 apcanrap 4 opmnm aah Xy/mx asu.
Her aah xey kypu?

662. KeByn3sahc 6opar 4 ners
xyanu asag, 10-am meHuira Xofp L
MeHr eruy. Her nera kemy Kypu?

663. 4 xoHBepTuH TOIY XOWIAA MEHLINd O LIaasbr
ery.
Her xomBept kenmy kypu?

664. 4:.4-114 8:41 9 15:3% 4
16:4--15 20:4-+ 8 16:4x 3
200412 12:3+ 9 18:3% 2
12:24-11 16:24+ 7 1928 456 -6

665. 24 9 8i:d=- 15 2%X9—15
3BT 20:44 9 450513
212 12:945 8 Bl 3iiye
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666. Hoomu MeTp amur 4 9ua oHr KeX XOBaxk,
9Hr OoshHac kumir yink. Her kuuirt xeny metp opx?

667. 4 merp TophHac 4 onn 3anaBeck kex. Her
3aHaBeck] Keny Metp TophH Opx?

668. Yitaung 14 m cartnH G9Xk. 2 MeTpap OMuKH
KYYKIMH KHHJT VXK, YILCHICHD —4 o1 OYLIMYX YHXK.
Byummyn Gonhnn xemy metp am opx?

669. Xoy yitaun 11 m a1 eruykom, Kemk:
,3 MEeTpap 3aHaBeck ViTH, HaaTkapHb—4 941 mpoc-
ThiHbL YHTH“-rmK. Her mpocTeHpI Kely MeTp 34 Opx?

670. 2x6 :4 4%3—9 4% 4—14
18 :4 O an = 6X3—13
2% 10:4 g5 = 9 8-—5
2 aE 4= 5% 4—17

5 omJa 9HrA xosaihH.

671. 1x5 2%5 8¢5 45
672. 5 cyphy/bun 9IIRP XOBAX OrTH:

5 KyOuK 5:9
- 10 kyb6ux 10:5
15 kyOuK 15:9
20 kyOuK 20:5

| DD 10:5 15:5 20:5

673. 15 KmeTkTo 3epriaor O LM OHT KEX. OHr
GorhHx Kemy kaeTk OPX?
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674, 1x5 25 3%5 4%5
DL ED) 10 : & 25855 20 : 5

675. 15 n yc TtaBH OyhwT omI9p XOBaK KexX.
Keny autp ycH Her Oyhmin xernx?

676. 20 nepBmKMT 4 91 3epPriIoHI TIBTH. 3epr-
JioH GonhHI Keay HNOPBIKH KYPTX?

20 [nepBIKMT O AIJ 3ePrJIdHI TIBTH.

3eprion 6oahHL Kemy NOPBIKH KypTX?

677. 5:5-1-12 10:5-1-9 25 610-—2
10:5-+ 9 15:5-1-8 9~ 84
20:5-1 8 10:2-1-7 Sl ()
15:5-1-16 20:5-9 A= i p

678. 10 20 10L2 00 25 162

5 \ 1055 W08 20 A58y 3143
. 15:3 D085 1252
Er e 15:5 5:5 9:3

679. Cepewxa 19 nenwrrs, Muuran menrn Cepe-
wutoc 3 geHwr Gah. DBps MeHrapH Muma 4 mepo
XynmK aBu. Her mepo xeny kypu?

680. OmtK 3CBI9 9./ 3CB OYPAITH; OYPAICH 3CBTH
MM Kerax 3eBTa:
1) 16 apcin—4 apcan=12 apcian
2)212 : 2 apcad= 6 apcax
681. Mapycbn 18 menwr Goox, Knasn TyyHsc 2

meHwr yay 6uid. KiaBa 3Bps MeHropH 2 oJ KapaH-
naw xyamk aBy. Kapawpawn keny Kypd?

682. 18:3x2 9051313 Gova3— 1113
15:5X 4 18137 A3 7
16:4%3 6:3-1- 9 5oxi3—6
9:3X6 12:2-114 69— "9
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6 ama oHra xosajhH.

683. 1x6 20 2% 6
684. 6 omn ourn 6 mon xosatH; 12 moxm 18 mon.

6:6 12:6 18:6

685. ¥Ypha monuac 18 Gaxsur 6 Teprai dIAp avan
rapu. Teprn Gonhun xemy OaxH auK?

686. Mogunp yraoan 12 m GaxHur 6 om1 9HI Kkex
KepamK. Hr Gorhw swapan yr GonB?

687. 18 KaeTkTa maacur XOHUP OAJM 9HI KETH. QJHT
GoshHx Keny kiaerk 6GosiB?

688. 3x5—4 12:6-9 6X3—12

2X9—6 8:2-+9 4x4—13
4x4—3 15:347 5X3—11
8 2—b5 18:3+8 5X4—16

689. 2x6 3% 6 4xb 2X4 3X 4
6X2 63 54 4X2 4% 3
12556/ 18 = 810 120k A 8RR 2T L0
12 : 2 13586 2 : 5 8§:4 12 w4

690. Moznxa ypu 6 enpt, ©AP GoathH 919D Keray
12 cron kex. Onp Goshs xenxyhod €TOT KEX?

691. Macrepckoiinn keLMUI4HP 6 expr 16 Lukadh
KeX 3BT, kexJaapH 2 mkad yayhap Ke>1<-6

Ikadmyaur exp Goahu AP KEAr O99X. Her
enp 31H Kely ukad kear 099

602 dxaly igss im0 L
8 @69 25¢ 9/12 }2331}2
; 1= / 2] Q
5316 4% 5 o0 AL T3

2X7—8 2% 10—16



7, 8 9, GonH {0 94J IHrA XoBaJjhH.

693, 1x7 1X38 1%9 1% 10
DT 2% 8 2%9 2% 10

T 8:8 9:9 10:10
14:7 16:8 18:9 20:10

694. ©nun Kyykn acpar rept enp GoahH ommap
BMIXJIY JoMaH XOHIT 14 kr kpyma rapHa. ©up Goshu
Kely KWJIOrpaMM Kpyma rapHa?

695. 7 xwiorpaMmur 7-Hi XOBaAr, OMHK 3CBJQ M1
3CB OYPHITH.

696. 16 merp amop 8 omm xumar yibk. Kuwir
Oonhun xemy meTp a1 Op¥k?

697. 18 merpur 9-1 XoBair 3CB OYpASTH.

698. 7x2 Sh 92 W03 2
9SG 2% 8 2% 9 2% 10
14 : 2 Ws. 22 18 : 2 2000
14 : 7 16 : 8 18:9 20 : 10

699. Heraru crontuin amHb 1 6onar npumep oath;
XOHpATY cTonGuKa— aliHb  260MAT; TYPBAIY CTOJ-
Oukp—atnp 3 0oJAr; NOPBACY CTOJNOUKI— aliHb 4
Gomar mpumep OJTH.

147 123 6:6 205810
15 18:9 1883 205
16: 8 9:3 207:5 11@.g vl
10: 10 1543 18:6 1156585

700. Awnp 2 6omr xoBanlHa UEH MpUMep Gy PAaTH.

701. Her nonan xoWrt raiy acpxn 13 xr apsa,
XOHMPAry [OMaH XOHTT TYYHA ODPXHb 1 Kr WMKSp OpX.
Keny kwu-torpamm apBa XOMPArY [1OJMaH XOHIT O.p
GonhH rapyas?
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702. ©OvHK 2cBI9 9171 3¢B 6YpadTH; OYPASCH 3CBTH
VMK Kerjax 3eBTe:

1) 11 x2+3 xe=14 xe.
2) 14 k2:7=2 re.

703. 12: 6116 12:6X7 44— 9
18:9-1-18 14:7%8 5%3— 6
18:6-1 Jimeie 1810566 00— 15
141988 18:6X5 4'5--13

OABThH

704. 18 : 3 A 20 : 10 At
3X5 19863 §3¢ 2 e
13-57 2% 8 6+ 9 16—13

705. CoH rucH 3yprynuH XaJ9BPT XOMpPArd Kiac-
cac 11 3ypr, Heraru kaaccac— TyyHI OpPXHb 2 3ypr
Gahap aBu. Heraru 6osn xoipary kjiaccac XamaHb Keay
3ypr aBu?

706. bops despans capnx 5 mertp, Mapr capi
Gonxna 2 pertp yayhap ymunk. Pespaib G0MH MapT
capll XaMIHb 3H Kely [IerTp ymuDK?

707. PeBpan, GonH MapT capia YMUICH JECTPMYy-
JMH TYCKap, OMHK 3CBJO 9 3CB OypAITH.

708. Koixo3n kemich TemomoH KOJXO3HHK HUHD
16 mumr uahan ryiipun Gyyme apma, KA OoaXia
TYYHI OPXHb 4 MHIIr MKep aBu. :
Konxosuuk kemy muir Oyylo SHHI aBy?
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709. 16:4+15 1B et B Rl

12:64 9 14:219 Bio 30
188 8 5% 3—4 35 6—13
294 9 2X9—6 0=

710. Amnp 12 Gonnr xonBihHa 1EeKH mnpumep
OypAaTH.

711. Ou 3yprap xoBanhHa 3acB OYpPASTH.

b apciun

712. Ou 3yprap xoaBiahha 3cB OYpaaTH.

6 apcan 6 apcian

713. 8 —wr Xxollp ISKX aBAT 2CB OYDITH.
€-ur 2-1 xoBaAr 2CB OYPHITH.

714. Xoip cyphyasu kyu 6oahu 9-an Gypur raspr
Topxap aBu wupxk. Llyrrahusb 3 amn sepraw kehan
cyyahx. 3eprasn Goahua keny Oypur TopcH?

715. Tanmad TO opyJal, OMHK 3CBJ3 9IJM 5CB
6y paaTH.

716. 16: 8- 9 35¢5-—1.9 2 4.8
Jidi- =016 G50 7 2X10:5
18:E 6115 2x8—13 9: 3x4
20 : 10 18 10x2— 9 6 3:9



717. Awmnp 3 OGoanr xoBanhHa L@OKH MNPUMED
Oy PAITH.

718. TvoHepmyn LIOBYHA repMyn Kex: 2 3BEHO
syphahan rep Kex, rypBArY 3BeHO 6oJixsna— O rep KEx.
[TnoHepmMya yT— TypLITaH Kegy rep KecH?

719. LlkoauH cant Typyasx 7 aJjpMHa MOL, na-
kan 11 anpmua Mox cyyahx. Llyr moggur 2 911 3epris
Kex cyyJahx.

3eprasH 6onhHI Keny amemua MOAH GI9X?

720. Taapgad TO OpyJaj, eMHK 3CBJI9 94J 3CB
OypAJTH.

7213 ¢4-=19 2%8: 4 9213
16 : 2+ 5 e 2 ) 2 : 4--14
7X2— 8 9595 R 34—

18 : 3 14 4%5: 10 18:9+ 9



HECAr4Y 3YH.

Tooanhu G6oJH TO GuuahH.

722. Her Gart keay MOAH 099H3? YT-—Typuitan Kemy MOJH

Goama?
723. 4 apsH MOJ TOBTH, 7 apBH, 3 apBH, 9 apBH MOJ TOBTH.

724. XopH MOJ TIBTH, JIOUH MOJ, XHPH MOJ, HHPH MOA. JH TO
Gonhix kexy apsH Ga9x?
72F. 1) 5 apBu MOX TOBTH. ©OpHb 5 MOX TIBTH. ¥'T — TyplITan

Keny moAH 6ouB?
2) 8 apsH MOJA TOBTH. 8 MOJX XeepHb TIBTH. YT —Typ-
IITaH Keay MOAH 00/B?

[y

726. Yyun xexay MOAH 099HI? IH TOOX Kepy apBH GOJH Kexy
e1vHuL 029x?
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727. ToBu nepBH Mok caihTH. DH TOOX KeXy apBH GOJH Keay
efuHUL 629X?

f@

728. Keny meHmr yyHp sypata 6a9ue? Kemy apeu Goun xexy
eMHUL 3H TOOX 099X?

729. Kepyn muHelK Xyanx asaix 10-ax menmra 9 meHr ery
Jluseiix Kexy Kypd? 3

730. Kyyku pyux Xymmx aeax 10-ax jgeHmra 6 meur Gouw

5 JeHIIrd Iaajibr erd.
Pyuk Kely MeHrHY GoJB?

731. Kepump TaGIHUMH MOHIAIC JOYH XOHp AEHIIT canhi aBTH
JHUpH TABH JCHIUT, HADH TYPBH JEHLI. .

apsajz eMHUL MYX

e

732, TabauuMH 3YH KJACTKX 3 THAT HUPTd KapTOYK TIBTH
GapyH KIETKA O THAT WM(PTd KAPTOUK TOBTH. BypacH 10 VM[HTH’
733, Vum To yMurti: 27, 43, 78, 56, 92, 84, 61, 36, 54, 71
99, 44, 68, 87, 22, 63. Rl LK

I

] Equauumyd OapyH Ouiloc Heriry OpMH, apsaj
| GoJixJa— XOUpPAry opmj Guurmar.
] ;

734, LlpdpMyadp TO GMYTH: Ty4H TaBH, MKHDH HOIMH ll.exl
3ypras, HHpH XOHp. ) H

735. WMum To ymmrh: 30, 60, 40, 70, 90.

To Goahnz Kexy apBaj Gaax?
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736. Lludpmyaep TO GUYTH: TyuH, NOUH, AAJH, HAHH, AeYH HUCH.
737. SanaunuKi uuM Xanxc oatH: 36, 40, 63, 80, 92

738. 56 —r4 xanxuH Aapy siMapaH Xaix HoBHa? XepH HMCATY
Xanxud japy? 39 —ru? 69 —ru? 89 —ru?

739. Heraru 3yyHa TOOXMH Tabauu:

1 2 3 4 5 6 7 8 9 10
11 12 13 1A IGHEE 7] S OO )
2IEREE)D MO SO R S o plE s oy SoR L 90 30
31 SOREE 33 RS R o SR G o iR g) 40
41 AR S S G A s e R ()
51 OB SR ARG R B S SO B G g6 ()
61 62 63 64 65 66 67 68 69 70
7l 72 73 74 75 TR TREERT O 5 50
81 89 g3 S S R e R R e R AR R R0 0()
91 92 93 94 9 9% 97 98 99 100

Tabmux uum to oat: 5, 15, 25, 35, 45, 55, 65, 75, 85, 9.
Tabmuny wum to oath: 3, 23, 43, 63, 83.

740. Du 3eprioHp sSMapaH TO AyTixaHa?

‘ 40 | 41 \ 42 45 50

\44

T |

741. Tana yaauuH 6apyH OMIAHb 099X TepMyIuH HOMEp KeaTH.
Tana yauUMH 3yH OUHAHB 099X repMyJHH HOMEp KEJTH.

742. 14125 18=5 o 7oL
1364 g 9-110—5
293 =75 s
51 20—5---4 4416—7

743. 4—ur 3 JOKXK aBX 3CB OYPHSTH.

744. 8--4—6 12—749 18 —3—12
741-8—9 14—8-47 19—2—_14
44-9—38 17—9-+5 20—1—17
6--7—9 183—9-+7 20—6—13
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745. 20-ur 4-HI XOBax 3CB GYpHATH.

746. 3 X2 X3 63 T 769
2 b2 4% 4:92 15:3 X4
2X4X2 2% 10:5 18:6X 4
2X2X3 1o 84 16524 >¢5H
CAHTUMETP.
l TR - NS T R A 941'0
I L | | I I ] 1

1cm
747. Jluneiix neep 1 cantumerp ysyars; 5 caHTMMeTp, 9 caH-
THMETD Y3YJTH.

) CaHTMMeTp TMI YLHr axpap MMrx OHUAr: CH

748. Metp aeep yraan 10 cm yayr; 20 cv; 30 cm; 40 ev; 50 cw;
60 cm; 70 cm; 80 cm; 90 cm; 100 cm: '

749. Metp meep ytaam 15 cm ysym 25 cm 35 cM; 45 cu
55 cm; 65 cm; 75 cm; 85 cm; 95 cm; 100 cm.

1 merpr 100 canrumerp 6324

1 =100 cxm.

750. "o TaracHa yTHHb KEM¥JITH:

751. TerpaiuH yTHHb GOJNH ©PTHUHb KEMKQJITH.

752. Yraan 10 cm ro Tatac 3yprH.

753. JBpa XyBUHA yTHHb GOJH XaHUHA YTHHb XYBIL YIHAT
YIICHA /P KEMMKITH.

754. Monap ac rmx xapronap ytxaH 20 cM JIMHEHK KeX aBTH.

755. Yraan 18 cv uaacsac 4 cm Toopk aBTH. SIMapas yr
11aaCH YJAB?

756. Ytnan 15 cm maacur 3 of1 9HI Kex KEpTHH. Enr 6ouhn
sMapaH yT 60JB?

757. 613 e 8¢9 1452
3417 19— 14 5% 4 1248
8495 19549 36 18:9
R 20—18 2% 9 12:6
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Terpr apeajgur HemJhH.

758. 10 meep apamur xapa-jgapanaub 100 Goara nemtH
20 neep xapaa aapa-gapananb 100 GOJTI HEMTH.

759. Typymna 20 kapawgam pakan xeeHHb 10 kapanpaimn
XYIUK aBY. YT-TypHITaH Keiy KapaHjaul aBu?

2 apeu -+ 1 apBu= 3 apBH

20 + 10 =30

760. 30--10 . 20--20 1030 10-1-40
60110 50-1-20 50-1-30 30-+-40
40-1-10 80-1-20 30--30 40-1-40
70--10 70-1-20 70-1-30 60-1-40

761. I'Tuonepck orpsiar 30 xyH G699x. Maii capuH Her MmMHL
nuoHept maxkax 10 mkoabHMK opymk aBd. CypBp TOB9L, 3CB KETH.

762. Hernru orpsar 30 mmoHep, Xoipary orpsar— 6ac teny
n1oHep 629:. XOHp OTPAAT XaMJIHb Kexy ITHOHep 6adic?

763. 20-1-20 30-1-30 50-1-40 6--14
e aB0LI]g 30--40 60-1-10 L
704-20 50-1-30 60-1-30 18255
30-1-30 60-1-40 80--20 14— 9
764. 30-}-50 1070 10--50-1-30
50-1-50 30-1-70 10--80- 10
20-1-60 10-1-80 4% 5--60

40-1-60 10 1-90 2X10-1-70

765. 40-ur 10-ux mxayars; 60-ur 20-ux; 50-ur 30-Ha UKIYATH.
766. Slupapn capaa macHa rynb 40 cm Guid, QeBpans capaa
10 canrumerpr yam ryu Gous. PeBpaib capia nacH smapaH ryH 69xK?
767. Kyyka wmacHa ryyHur xemao/x. Teerr nacwa ryn 50 c,
vpha moxn saarr Goixaa nacH 20 caHTHMETPT yaM TyH. Ypha
MOJIH 8aart siMapaH I'YH LacH yHK?
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768. KeByn KeH X0/ T9paAX THiK ceopaas. Mutsa 70 cM ropais,
Burs Goaxna Mutsan opxub 20 oM xoax ropaip. SimapaH XOuA
Bura ropanus?

769. Kyyxa kiaccun 6ubauorexs TypyH oap 20 pertp, XOHpATY
oxptHh 10 merTp MKOp aBy MpK. YT-TypuITaH Kepy AErTp KYYKA

aBy MPK?

770 OMHK 3CBID 9JJ 3CB OYPISTH.

771. 2060410 40--20--10 435:2
10--70-+-20 10+4-80--10 2x8:4
10--40--30 205020 B2
3020420 3044010 9PE26

772. Opnop roauH oprub 40 metp 6uaa. ['ox xaBpap ycH JenBp-
xao eBajx opxHb 50 Merpr yam eprH Gomk. [on xaBpap smapau

_Opru 60/miK?

773. Xap keps wosyx Mapran 20-H19 HMCK HpuxaB, YKp Xap
mosy A 6ouxia—I10 XOHr X©eHHb HHMCK HpLXaB.

Ykp Xap HIOBYJ Ke3d HHCH HpLXaX?

774. Her otpsnun muonepmyn ,llloyna eapr 30 wmoByhxa
rep Kewx OeK, TanjaH OTPSIMH MHOHEPMY. 6osxaa 10 rep yayhap
kex. Xoilp OTPSAAMH IHOHEPMYN Xam[aH Keay IIOByHa rep Kex?

775. 20-}-304-30 =g M E R e B
102070 78 19—14-19
30-1-60-4-10 gl W7 90— 1857
920 -1-50 20 P e op==fpieg

Terpr apBajur XacikH.

776. 100-ac apsax Aapa-gapaHiHb O GOJTI XIPYITH.
777. Do 30 ToBY Xynm aBaj, 10 TOBUMHD KMUICYAT Xais,

Kexy TOBY YJIACH?
00POOAOO OO

0000000000

3appu— 1 apsi= 2 apsd
30 —10 =20
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778. 20—10 30—20 40—30 60—40

40—10 60 —20 60—30 50—40
70—10 50—20 80—30 90—40
90— 10 90 —20 70—30 100—40

779. Knaccy 40 cyphyasy Gum. Temmwac 6ubmorexkx 30 cyp-
hyapd  GUurjB.

Keny cyphyapunp 6ubamorexy Ouurgajn yra?

780. Xoruz 70 rep 6umd. TypyH [AOJaH XOHIT 3/EKTPHYECTB
30 repr Opy/uK, XOMpArd XOJAH XOHIT— HaaTK TepPMYJHb OpPYJIK.

Xo#pArd J0JaH XOHIT Keay TepT 3JEeKTPHYECTB OPYIDK?

781. Ilkoabuukyn ytaaH 60 M, eprujoH GoaxJa yTAaH OpXHb
20 merpr 6ah Haajpar rasp apus.

Haanar rasp simapaH epra 6oax?

782. Ytnan 40 cm naacHac 10 cm maac To9pX aBTH. $lmapan
yT UaacH yaaB?

783. 60— 10 50—30 100—40 17 —4
40—20 100—10 90— 10 20—7
70—30 80—80 70—40 7-+9
90—20 90—30 100—30 13—8

784. 20 40 20/ wns] 50 20 50

70— 100 — I 30
10 30 10 40 4RSS (570
785. 70—50 80—70 50—30 70-+ 30
90—50 100—70 3050 2070
70—60 90—70 80—30 90 —20
100—60 100—90 80 —50 70—70

786. Anpenn capa 16 umarp eap, 4 Oypkr eap 0ok, HaaTk
eapmyaHb xypra Gomk. Anpeib cap 30 eapra. Keay xypra eap
anpeab capia 00mK?

787. Coonop GuMuaTe TETPAaAbMYJ XOJ9XJ HErArd  Kiaccac
70 Torpaab ay, TexnacHs Guuahud 30 Terpann, 3cBHH — 20 TeTpaip,
HAATKCHL 00.1X/1a — 1eBpap OMuihHd TeTpanbMys 099iK. Kexy wes-
pop OmuahHd TeTpasbMy] XIJ9BPT aBy?

788. dabpuxuH eep x0itp OHIKH KYYKAMH cajx 099K: HErHAHb
80 Kyyka 6ok, Haatkaub Goixaa 20 Kyyka Oahap GaaK. OH scB
Her yYJABPIpP Kerjarep Cypsp TOBTH.

39
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789. Muonepck aarept XOMp OTpsiz Gaak: Her oTpaaT 40 KyH,
Haatk oTpaaT Goaxaa 10 kyn Gahap Goax. DH 3cB XOfp YY/IABPIP
Keraarap, Cypsp, TOBTH.

790. 80 —60--50 100— 80 - 60 4%4: 8
60—20--40 70—60--90 Bl
70—50--80 100—70--50 25@8
90 — 6070 80—50--60 w10

791. Ukaynrn: 40-ur 20-ux; 80-ur 20-nx; 70-ur 30-HA.
Bahpyaru: 50-ur 10-nx; 70-ur 30-nx; 80-ur 20-H.

792. Canch To neep 30 Hemxuo amHp 50 Gomx. SImapaH To
caHCH 022X

793. 10-...=30 50-+...=60 ...+20=280

794. Tluonepmya 30 mox cyyahx seBra. 3eprioH 60JhHA S-ax
MOJ OpyJaj TYPYH ©1p 3AH 4 sepriaed mox cyyahi.

Kexy mon aiH HaKaj cyyahx?

795. Cyphyabunp mixoaun caar 50 mox cyyahxap mmmzx.
3epraon Goahwx 10-ax mox opyzax, saH 2 sepraoH MOA cyyahx.

Kexy Moz amu Aakaj cyyahx 8eBTo?

796. Her nertpr 14 xainx, TangaH JerTpTHb 4 Xaax yay Gasx.
Kyyks xoipary Aertpur oap GoihH opmep ymuwaz 3 eap yMunk,
Keay xaax exp GoihH 5H ymiar 699:K?

797. Her nerrpr 20 Xxaiax, Haatk nerTpTHb Oouixaa 4 xanx
Gahap 699xK. KeByn xoipard pertpur, eap O6oJhH 9AMp yMiuag,
2 oApT YMIIK. Onp Gonhn xexy xaix ymiuar Geex?

798. 20-...= 30 g b 6-1-12— 5
40--...= 60 Sy g 4-116—13
50-L...=100 ...--90 =100 BN gian i
304...= 70 Suel30E 380 Puldine o

Terpr apBaaur xousjhH.

799, 20202020420 40-1-40
303030 50150
|
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800. 3 xeByH rapyauH yphaokr kepr1d 60ax 20-91 rac kyu Goahu
kew, KeBys yT-Typuitan Keay rac Kem?

801. 10--10--10--10 2020 420
10X 4 20 X 3
802. 10 X 2 10x 8 20 X 2 30 X 2
10X 5 10X 7 20 X 3 30 3
10% 3 10X 9 20 X 4 40 % 2
10 6 10 X 10 20X 5 50 X 2

803. 20-01 nenmrs 2 nahaH MOHIH XaMZaH KeAY MOHIH GOix?

804. Kepump rabmmumn menrmac 50 apenwr, 80
zenmr, 1 apean canhk aBTH.

805. 3aBox KeaiMUIMHPT 3 rep OIpK; rep
Gonhux 30 kBapTHp GI9HA.

[ypsH repr yT-TypuuraH Keay Ksaptup 0o9x?

806. 50 X 2 10 X 4 30 X 2 1056
20 4 20 X 3 20 X 5 20 X 4
10 X9 30 % 3 40 X 2 30X 3

807. 10 X 8 20 x4 30 X 2 20 X 3430
10 < 10 20 X5 50 X 2 30 X 3—20
200 2 30X 3 40 X 2 50 X 2—60

808. Cyphyubuspur uskyasTypHH Ypoks 3epriou oahua 10-ax
Ky Kyuohax 4 seprioH Kex 30rcax.

PusKyIbTYPUH YPOKA KeAy KYYKA 09iK?

809. Xornx 4 yumn Goowo. IMuonepmyn yuun Goahua 26-91 Moz
cyyah:x. CypBp TOB9J, 3CB KETH.

810. Mosuxa macrepckoity 80 mapt kex 3eBTd. 3yphan expun
ayycH macrepckoitn expun 10-ax mapr kex. Keay mapr nakan kex
96BTI?

811, Tanzan TO OpyJaX, ©MHK 3CBId 91 3CB OYPAITH.
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812, 10 X 4420 20 % 2--30 14--4—6

10 % 3--60 30 X 2--20 135
10 X 6—40 20 X 4--10 Iy =g =g
10 X 8—50 402170 16-1-4—9

813. Herary croabuxx amub 100 Goaar mnpumep OMK aBTH,
XONpAry CTOAGHKA —auHb 12 GOMAT, TYPBATY CTOJIOHKA — allib 2

60sAr 1IpUMep OJDK aBTH.
20 % 3—50 Do 202 2X6 : 4
50X 2801 0 ‘B9 sdo MM D
30X 3+10 2X4X2 DSX 9506

814. Caxr 4 3eprioH anbMHA MOXH 699K, 3epraoH 60mhHI 5-ax
MonH Goow. Xampap AeepHb maxan 30 ambmua mox cyyahix. Caxr
Kejy aibMHA MOJH GId?

815. Caxr 30 6ar cmopoxnH yphiax. XaBpap gakax O 3epriou
cvopous cyyahix, seprmen Goahux 10 Gar Goax. Caxr keay Oar
CMOpPOAHH 00/BK?

816. Axaup 20 meHmr 6o, Ay KyykHb Goaxaa 30 meHwr
yay meHrTd. Jly KYYKHb KeIy MOHrTo?

817. Kapannaumy XyamK ascua 20-91 JeHIra 5 MeHr ery
TeTpajbMyl aBCHI tyyHac —30 pmenumr Gahap rapu. Terpazbmyn

Keay Kypy?

818. 20 X 3—40 156—13414 1951980
10 X 6—50 18—11-412 158335
30 x3—40 20— 1615 18:3:3
20 X 5—80 20—14--13 205256

Terpr apsaaur xoBaJhH.
819. 40 GexuH LIMJINT XOHP KAaCCH a,unap xoBax. Knacc Goahup
Kepy OeKHH INHJI KYPTK?
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0 0 0000000

00000066 00
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820. 20: 2 100 : 2 40: 4 60 :

6
40: 2 B0ES 80: 4 TR0 <7
60: 2 60:3 5(0)4165) 80:8
80:2 90:3 100: 5 90:9

821. 40 cyphyabuspur 2 caHuTap 9J9p XOBAWK dBAX XK.
Canurap Goahsz kexy cyphyabuHp KypTiK?

822, llkomu rapyar kemaxap 40 cyphyssunp 4 94 Opuranr
xoBaraK. Bpurax Gonhux kepy cyphyubunp 6o9xK?

823. OmHK acBMd o471, 60-ur 3 M HIL XOBaX, CB OYPIITH.

824. 10 sepraars, sepraon Goahux 10 kaeTKTd, AOPB/IK BYPTH.

Iaxkan Tep IOPBIKMT XOMP A 9HI KETH. OHT donhHa exy
KJIeTK 099X?

825. 20 % 2 30 3 60 : 2 100: 10
40 : 2 9 : 3 30 % 2 80 -2
10X 6 20 X 4 50 : 5 60: -3
60 : 6 80 : 4 10X 5 100: 5

826. 100: 10 50:5 AWse & 3416
80 2500 " 804 60--40 10--8:4
60: 3 100: 2 30X 3 2% 8:4

827. Baas 50 Gar meurs cyyahx; [Iaxax nxeepub 30 Oar aq
UpoA, KeBYHAOH Keus: “Lleuracur myrrahuHb 4 o4 9HD Kex
cyyahxmu“. DaH oHr GoahHz Kexy Gar weurd cyyahi?

828. D9k 100 Gar meurs yphas. Tyyuac 60 OGarur Her opwmzx
cyyahxK, HaaTKCHHb 2 OMUKH 9HT raspT 24/M9p cyyunhw. Baas 6uuku
OHI rasp Ooahux kexy Oar meura cyyuahix?

829. Kyykn typyrex 40 ueurs, xeenss maxkazx 20 meurs Tacmy
asu. Llyr nenracac 2 axa 6yker kex. Byker GoahHa Keay LEUra opcH?

830. 20-- 60 90—60 60 : 3 6x2: 3
70—50 100 : 5 100 105« 4X2: 8
30X 3 0% 4 80 : 4 5%4:10
80 : 2 2070 80—50 2%9: 6



NABThH.

831. 215 ey 10227 L85
gty I e 48519
0=—8 A LB 846 7imgirol=8

832. 10 7 1315 4115 15 —4
9-1-10 1413 613 728
16—10 12-1-8 15es 9 20—3
) 1713 7= 58 20 —8

833. Bepa, Jlens xoiip aaBgaH cMopojMHa OarMyZ 3pry’ol
manTK erd. Bepa 8 Oar sprymx manrs, Jlews Goaxaa 3 6ar yayhop
MaJaTK. DCB HEr YYJAABPAp KErArap, CypBp TOBTH.

834. Baas 9 mox sprymx mante, Kocrs Goaxaa 4 wmox Gahap
MaaTB. DCB XOHP YYJIABPIP KErAArap, CypBp TIBTH.

885. Hunn swun konxosn 60 mepH 6w, sHiKx axyHb 20 MOPHA
ocB. CypBp ToB3J, 3CB KETH. '

836. 3aBox KeaIMIMHPT HUAHD § Tep Gapad, ara 4 rep yayhap
Gops. Xolip ML 3aBOA YT-TypUITAH KeXy rer Gapi?

837. Xoiip ro Tarac 3ypTH: HerHb yTapH 8 cM, HaaTKHb TYPYH-
KaCH 2 cm yay OoJjxap.

838. 2 ro TaTac 3ypTH: HerHb yTapH 8 CM, HaaTKHb 00JIXaa
TYpPYHKICH 3 cM ayTy Gouaxap.

839. 12-1-3—5 1655128 8E 116
L 19==7-16 495
13+7—4 20—8-1-6 2l
153t g 20—9+47 5-14—6

840, 7--8 13==b 18 —12 o015
519 ) 1513 90— 17
98 14—38 19— 14 20—l
6-1-7 18—9 1716 20— 14

841. Xoitp TO X0OpHIHb HeMxJd aumHb 18 Gomar ueH mpumep
OypASTH.
842. Her Toohac Tamiad TO Xacx/a auldb 4 OOJNAT LOH MPHUMEp
OYpASTH.
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843, Her Taka 12 TyyxMysa, HaaTk TakaHb O TYYKMYa JapxK
raphw. Haatk Takaub Keay ryysmya raphix?

844, Do euaryx napymx. Taka nop 9 TakaH eHAr GoaH
uyhchar 3 enar Gahap ToBx. YT-TypuITaH Keay OHIT Japyink?

845. KomxosuH KysHUIL HET AOJMaH XOHTT 7 CEHIK CiK, Japyk
JoxaH XoHrT 9 cesak gciK. Yr-rypmrad 20 CesuK [CX 36BTo.

Jaxan xey cesuik —sCX?

846, Koaxos 17 kocuax sicx 86BTd. TYpyH [MOJAH XOHIT
6 KoCwIK, HaaTK J0/aH XOHIT 8 KOCHIK SICIK.

Haxan Kexy KOCHIK fACX?

847. 4+8-45 3= 7=lth 16 —13-kNg
BEl7E=S 15— LA 19—t &
94+4—9 = 20—17-1-15
8-+-3—9 20—9—4 20— 12111

848. 2 X 7 44 63 2X6-4 5

259 45 7X2 2X 313
3x4 5X 3 92 28— 9
3 X6 6 2 82 5x4—14

849. KepaMiyHp KOJMX03Z MamMp sicxkaza. O ©1p JAapaHiaH
oJpuH 3-ai mawm fCK, syphaaru expr 4 mamm sCK.

KemMumHp yT-TypliTaH Keay Maliupg sici?

850. 4 nwoHep creHrasetn xomahajy 3ypr 3ypi, HEr IHOHEp
3 3ypr sypK. DAH XamJAaH KeLy Sypr CTEHraserj 3Ypi?

851. Tanman 1O Opy/aj, OMHKI9 91 3CB OYpPAITH.

852. ILlxomun caxr 20 MoxHa yHr 3pry/¥ MalTX Keprra.
CyphyabuHp TYPYH ©PTHB 3 3epIIoH MOJHA YHT 3Pry/iK MaITH. 3epr-
JoH OGoahuzy 6-ax momH 6oax. Keny momHa yHr aaKan 3pryix
MaJTX Keprra?

8563. Tana wWKOMMH CyphyJbYHp MIKOMMH CaAT sk KOIJICHd
TVCKap 3CB OYPAITH.
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854. 3 X5 4 2X8—9 4 4—14

2X4-+ 7 7TX2—6 6x3—13
3x 4+ 8 3x5—-8 5 4—17
3x 213 2% 6—9 3X4—12
855. 14:2 5:5 ks 16 : 8- 9
15:3 12:6 118 H9 15: 3--14
16:4 18:6 16: 8 6x3—15
10:5 18:3 20:10 2 88

856. YrapH 12 cm Goaarap To Tarac 8ypTH, TYYIaH 3 94U SHT
KEX XOBATH.
Our Goahu keayhan cautimerp Goux?

857. Kyykn xiaccyp 18 moxsa au ad upx. 6 aupp GaHkna
TOBXK, HAATKCHUHb IOP 3 M/ TOBXK.
[IIun 6oahHp Kexy MOJHA all TIBK?

858. Kyykx 17 wmanrpc cyyahx. Tyynac 8 MOHIpC SAPIITT
cyyahx, HaaTKcuHb 3 Gyhwa aamep cyyi.
Byhw GoxhHz KoAy MOHTpC Cyyahi?

859. 6 3:3 14: 7X6 192859,
2% 4:8 15: 54 15:5:3
2X8:4 18: 97 20519
45¢5:2 20:10 % 8 1I3E =8

860. 60--20 20X 5 20--70—60
100—60 053 30K 2 6
80—30 80 : 4 RS B )

861. 10 neep 2 HemAr 3cB OYPAITH.
10-ac 2 xacar acB OYpAdTH.
10-ur 2 moKK aBAr (MKAYJAT) 3CB OYPASTH.
10-ur 2-r xoBaar 3CB OYPAITH.

862. lkomun canr 30 cyphyabunp kemmx. Teguac 6 kyn
XaMTXaC Maaxypas, 14 KyH HYK MaaTB, HAATKCHb MOJHA YHT 3pIyJ/iK
maaTB. Keoy KyH MOJHA YHT 3pry/nK Maamik?

863. 3 cyphyabu kyyka kaacck mMoxHa 6-ax an asu upx. ABY
WpCH aumyaur uyrrahuup 2 0aHKA AP TIBK. IJAH Oank Goahwx
KeZy ail TIBi?
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864. 13-24—2 weigeig P
1416—8 6-+-9—8 19— 1412
12186 7156 Dl 14

865. 20 4—280 19—13--12 18—7—2
BOA2i e 4% 3— 9 7X246
100 : 5X 4 10X 2—13 BOERS
866. Amup 3 Goixap xopailiHa meH mpumep GYypASTH.
867. Iepac xyar kypra 40 m. 'epac xynrr xypaa naxd xapy
TepYpH MPCH KYH Kepy Merp HOBX?

868. Capr seprin Gomhag 40 Gar kerax, 2 sepraoH MaauH
cyyahu; CMOpOAMHMT GOJXIA MAMMHA OpXHb 3 Oar Gahap cyyahi.
Keny Gar cmopomun cyyulk?

869, IMuomepMys Hampap 2 3eprIdH XycM Mo CYVahK, XaBpap
Gonxaa 3 3eprioH HeMdA Cyyalk. Yr-rypurran 100 xycum MOZ
3eprioH GoahHA MM CYyIK.

Sepraon Goahua Kexy MOX cyyihu?

870, Tous I'puimma Xoffp 3KIH MOPKOBMH eBC TYYXJ — 16H
Goax. dnu ropyaH 20 3epridHd ©BC TYYXK. DkHb 8 3EpIVIOHD GBC
Tyy®, HaaTkunb Tomst 'pumwa Xofp aamp tyywx. Kemy seprions
oe¢ I'puma Goan ToHs camry — calyiaH TyyiK?

871. Komcomomsunp 70 mox cyyahx. Tyynac 30 mox — mxomn
e0p cyyah:x, HaaTKCHHb — YUHIHUH XOHp Ouiiep 9/a/m0p Cyyhi.
YiuuuH Her OMIAHb 314H Keay MOX cyyahi?

72. 50-40—20 GOREI S8 100 : 2-}-30
80—20—30 30 X 3—50 10X 9—70
70—60--40 SORRATESD 100: 5X 3

Q2

873, 10X 4:2 50%2: 5 10X6: 2
20X 3:2 16068 4 . 402 + 4
30¢3:9 9005€54: 110, 30 2: 3

874, Yrnan 10 M jgeecop WIKOIBHHKYA rapya KeMKdJB. H
JleeCH rapyauH yTi 8 I9KK, epruiHp Goaxaa—>5 gokx OarTs. la-
Py yTaan GOJH OprHAdH Kexy MeTp 069aix?

875. [lkomun rapy[uH yT-epris Tyckap 3CB GYpAITH.
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876. Kyykn apurt GypurdH 3K & SeprioH KX TIPi; deprism
Goahua 20 sk Tomx. 10 akub yphu rapen yra. Keny axmp yphu?

877. Tluonepmyn 90 Gar neurs
cyyahg; TyyHac 10 Garur terpr Kiy-
M6 cyyahK, HaaTKCHHL — /B AOp-
BH IypB/KH KAyMOA cyyahig. ypsmKH
Kaymb GoshHa Kegy Gar ueumra Topi?

878, 8 62 16:8 X7 [5G
25¢ 31:E16 16:4 X3 181223
4% 5:10 19953 20:4:5
2% 6: 4 18:9 X6 16:2:2

879, 3X4:6 NGB ED 7017 -1-90
3 2058 3053559 80 : 4-1-70
184 esa 80 : 4X5 30 X2—50
15590 60 : 6X8 40X 2—30

280, Yraan 40 cm maac 71oapi aBTH. TYYPOH XOMp ama ayp
Kern, IlaacHa epaaHb siMapaH yT 0oax?

381. TomuH eprub 20 m Goaw. Bacst TOMIH AVHA KYPTA yuyc
onan xopy ywi HMps. Bacsa xexy merpt YUK?

882, [luce xeByH Gomm 7 KyyKH 2 911 9HI GOMK Haaze. gyr
Goahua Kexy KyH 6993K?

883. TanmaH TO Opyaaj, ©MHKII /L1 3CB 6\'pﬂaTH.

884. KyykH TypyJox 30 peura, xeeHHb 10 ueura racy i
Lyrrahacub 2 9471 OYKET KEiK. Byker GONHA KEAY UCUrd Goygy

885. 20 X 4—50 60 : 3 X4 7 LHig ey
10 X 10—80 40 : 2X5 14 4+ 5__ 13
30 X 3-+-10 20%4: 2 16 — 91 ;5
10 X 4-+30 29516 20 —16 4 g

4TS 30 3:9 205429

550 18:9X6 40 2:8 30X2: 6

12:2 %3 50 % 2:5 50X 2:10
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887. 1) Llen xopanhxa mpumepmys ammnbp 20 Goaxap GypaaTH.
2) Llen xoBaahsa mpumepMyj amHb S Goaxap OypLaTH.
888. JlepeH onhix macTep aep-
BOJl XJ9BYpP KX, JaKal Her onhmx 2
XJ9BYp KeX.
Y1-TypIuTaH 9H Keay X9BYpP Keu?

889. Orpsinun Bowar Goxn 14 mmonepmysx ounhuap HOBXap

WpXK. DAH myrrad 3 OHWIL VD CYyK HOBK.
Ouhn Goahun keny KyH cyyx?

890. 3yuuu kauukya 3 cap 6oasa. Capud ...... JIErTp YMUIXJIA,
KaHUKYJIUH TYPIIT Kexy Jertp ymunk 6Goax? (Heman, acB KeTH).

891. Tapxu Herary kiaccx iozan Hacragad opaaT. lkoanx 10
KU CYpPX Keprra.
Ulkon unzoxzopH, TagH Keay HacTa GOJXT?

892. Haamm. Tasp neep 3 Terpr sypam. 10
Kyykn napa mapangan Tep TOrpryayp aancta Ty- 20
HOpuryn xagiar. Buukn terprr tycxaa 30 ouko
asar, aynak rerpr1-20 ouko, uk Terprr-10 ouxo

apnr. Typyson 100 ouko aBcHb—I1yyCH GO
Tapir.
Cepesxxa IMang xoiip Haauama. Cepexa AYHAK TOrprr 2 A9KiK
Ooan 6uykH TOrprr 1 JaKk TyCB.
Keny ouxo Cepexa aBch?
lans 3 mokK OMYKH TOrprt GOMH 1 X9KK MK TOrprT TyCi.
laast kepy ouKo aBCH?
Cepexa Mans xoifpac KeH Imryy?
Tann Gac TuuM Haapg HaaxTH,



TAPT
HETIr'Y APBH

Hemahu Gonn xacahn . .
Metp
Lasmahn

XOUPArY APBH

Tooanhn Goan To Guunhu
Apsnac maayra nemihu
Llen emnunmn nxayaihu

Her Temarto TO apBhac napmyra xapynhu

Llen emunmux Gahpy:athu
Yyanepto acBe .
Apsuac gasanx nemiahn
Apshac jpasax xacahu
Knnorpamm :
Xoilp TEMArTd TO xacnlm
Jlurp

Jlagmahn

Xoagahu

Lasmahu

Xosarhw

Hasmahn

HELATY 3YH

Tooanhs Goan 10 Guuahn

CaHTiMeTp

Terpr appajuur uumhu

Terpr apBamur xacahu

Terpr apsaaur xossnahu

Terpr appaaur xopanhu

Hasmahn

. 110
. 113
. 123

59
64
67
71
74
77
79
84
89
90
93
94
97

. 126
. 129
. 130
RiLal
. 133
. 135
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